
Computer (Health Services department)
Adv. No 5/2016, Cat. No 27
Question Paper Morning Slot

Q1. What is the difference between the largest five digit number and the smallest four digit
number?

A. 100,999 B. 99,999

C. 98,999 D. 10,000

Correct Ans: C

Q1. पाँच अकंҖ कẮ सबसे बड़ी संĹया और चार अकंҖ कẮ सबसे छोटẪ संĹया के बीच ěया अतंर है?

A. 100,999 B. 99,999

C. 98,999 D. 10,000

Correct Ans: C

Q2. How many times is 1728 divisible by 12?

A. 20736 B. 150

C. 144 D. 0.6944

Correct Ans: C

Q2. 1728 को 12 से ꞈकतनी बार भाग ꞈकया जा सकता है?

A. 20736 B. 150

C. 144 D. 0.6944

Correct Ans: C

Q3. If 73 is added to the square of a number the answer is 539. What is the number?

A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q3. यнद 73 को एक संĹया के वगΩ के साथ जोड़ा जाता है तो उŘतर 539 है। वह संĹया ěया है?

A. 16 B. 14

C. 12 D. 18

Correct Ans: B

Q4. What is the square root of 256/144?

A. 4/3 B. 3/4

C. 16/9 D. 1

Correct Ans: A

Q4. 256/144 का वगΩमूल ěया है?

A. 4/3 B. 3/4
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C. 16/9 D. 1

Correct Ans: A

Q5. In 2009, a school had 1500 students. In 2010 it experienced a 12% growth in student’s
enrollment and it is expecting a further growth of 5% in 2011. Based on these figures, how
many students can the school expect to enroll in 2011?

A. 1680 B. 1755

C. 1700 D. 1764

Correct Ans: D

Q5. वषΩ 2009 मƏ, एक Θकूल मƏ 1500 छाĵ थे। 2010 मƏ, वहां छाĵҖ के ļवेश मƏ 12% वृ꞉ Д हुई और वह 2011 मƏ 5% कẮ
अпतмरěत वृ꞉ Д होने कẮ आशा कर रहे है। इन आंकड़Җ के आधार पर, वह Θकूल 2011 मƏ ꞈकतने छाĵ होने कẮ आशा कर सकते है?

A. 1680 B. 1755

C. 1700 D. 1764

Correct Ans: D

Q6. A dress available for Rs. 1500 is now available for Rs. 1200. What is the discount that the
shop is offering on the dress?

A. 20% B. 25%

C. 30% D. 15%

Correct Ans: A

Q6. 1500 ⁸पये कẮ एक पोशाक अब 1200 ⁸पये मƏ उपलťध है। दकुान ₯वारा उस पोशाक पर ꞈकतनी छूट दẪ जा रहẪ है?

A. 20% B. 25%

C. 30% D. 15%

Correct Ans: A

Q7. What is the probability that when a coin is tossed three times successively the outcome
would be three tails?

A. 15% B. 16.66%

C. 12.5% D. 33.33%

Correct Ans: C

Q7. एक ꜞसěके को तीन बार उछालने पर लगातार तीन पट का पмरणाम ꜞमलने कẮ ꞈकतनी संभाŻयता है?

A. 15% B. 16.66%

C. 12.5% D. 33.33%

Correct Ans: C

Q8. When two dice are thrown what is the probability that a total of 5 will not appear?

A. 7/9 B. 8/9

C. 6/9 D. 5/9

Correct Ans: B

Q8. जब दो पांसҖ को फƏ का जाता है तो इसकẮ ꞈकतनी संभाŻयता है ꞈक 5 का योगफल ļकट नहẪं होगा?

A. 7/9 B. 8/9
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C. 6/9 D. 5/9

Correct Ans: B

Q9. Ram buys 25 books at Rs. 10 each. If he sells the books at Rs. 300, how much profit does
he make on each book?

A. 25% B. 30%

C. 15% D. 20%

Correct Ans: D

Q9. राम 10 ⁸पये ļŘयेक के нहसाब से 25 ꞈकताबƏ खरẪदता है। अगर वह उन ꞈकताबҖ को 300 ⁸पये मƏ बेचता है तो वह ļŘयेक ꞈकताब
पर ꞈकतना लाभ कमाएगा?

A. 25% B. 30%

C. 15% D. 20%

Correct Ans: D

Q10. From a bag of 100 balls, Ridhi takes one tenth of the balls and Siddhi takes one third of
what is remaining. How many balls did Siddhi take?

A. 10 B. 33

C. 30 D. 35

Correct Ans: C

Q10. 100 गƏदҖ के एक झोले मƏ से, мर꞉Д गƏदҖ के दसवƏ भाग को пनकालती है और ꜞस꞉Д एक­пतहाई भाग को пनकालती है। ꜞस꞉Д ने
ꞈकतनी गƏदҖ को пनकाला है?

A. 10 B. 33

C. 30 D. 35

Correct Ans: C

Q11. Find the odd­one out in the following:

Copper, Aluminum, Oil, Lead

A. Copper B. Aluminum

C. Oil D. Lead

Correct Ans: C

Q11. пनůनꜞलꜟखत मƏ से ꞉वषम Ðात करƏ: 

तांबा, अलुꜞमпनयम, तेल, सीसा

A. तांबा B. अलुꜞमпनयम

C. तेल D. सीसा

Correct Ans: C

Q12. Find the odd­one out in the following:

Mercury, Venus, Mars, Sun

A. Mercury B. Sun

C. Venus D. Mars
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Correct Ans: B

Q12. пनůनꜞलꜟखत मƏ से ꞉वषम Ðात करƏ: 

बधु, शुĢ, मंगल, सूयΩ

A. बधु B. सूयΩ

C. शुĢ D. मंगल

Correct Ans: B

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Bank: Money:: Sun: ______?

A. Round B. Heat

C. Moon D. Dark

Correct Ans: B

Q13. वह सवΩŗेΓठ ꞉वकŹप चпुनये जो मूल यĺुम मƏ अꜞभŻयěत संबधं के सा⁴żय संबधं कẮ सवΩŗेΓठ अꜞभŻयिěत करता है:

बҒक : धन:: सूयΩ : ______?

A. गोल B. ताप

C. चķंमा D. अधंकार

Correct Ans: B

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Bed sheet: Bed:: Curtain: ______?

A. Table B. Pillow

C. Window D. Computer

Correct Ans: C

Q14. वह सवΩŗेΓठ ꞉वकŹप चпुनये जो मूल यĺुम मƏ अꜞभŻयěत संबधं के सा⁴żय संबधं कẮ सवΩŗेΓठ अꜞभŻयिěत करता है:

चादर : पलंग :: पदाΩ : ______?

A. मेज B. तꞈकया

C. ꜟखड़कẮ D. कंţयटूर

Correct Ans: C

Q15. Find the missing term: 83, 82, 84, 81, _, 80

A. 85 B. 86

C. 79 D. 87

Correct Ans: A

Q15. लुţत संĹया Ðात कẮिजए: 83, 82, 84, 81, _, 80

A. 85 B. 86
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C. 79 D. 87

Correct Ans: A

Q16. If the MECHANIC is called the DOCTOR, DOCTOR is called the PILOT, PILOT is called the
HERO, HERO is called the DANCER, and DANCER is called the DRIVER, who will prescribe
medicine for illness?

A. HERO B. PILOT

C. DANCER D. MECHANIC

Correct Ans: B

Q16. यнद मैकेпनक को डॉěटर कहा जाए, डॉěटार को पायलट कहा जाए, पायलट को हẪरो कहा जाए, हẪरो को डाŢसर कहा जाए और
डाŢस र को Įाइवर कहा जाए तो बीमारẪ के ꜞलए दवाओं का пनदẽश कौन देगा?

A. हẪरो B. पायलट

C. डाŢसर D. मैकेпनक

Correct Ans: B

Q17. If the TAILOR is called the MASON, MASON is called the ARCHITECT, ARCHITECT is called
the JOURNALIST, JOURNALIST is called the MINISTER and MINISTER is called the PRIEST,
who will stitch clothes?

A. MASON B. TAILOR

C. ARCHTECT D. MINISTER

Correct Ans: A

Q17. यнद दजế को राजगीर कहा जाए, राजगीर को वाΘतुकार कहा जाए, वाΘतुकार को पĵकार कहा जाए, पĵकार को मंĵी कहा जाए और
मंĵी को पादरẪ कहा जाए तो कौन कपड़े ꜞसलेगा?

A. राजगीर B. दजế

C. वाΘतुकार D. मंĵी

Correct Ans: A

Q18. In a different coding system MERCENARY is coded as ZREPRANEL, how is RACEME coded
as?

A. ENPRRZ B. ENRPRZ

C. ENRPZR D. ENPRZR

Correct Ans: D

Q18. यнद एक ꜞभŢन कूट ļणालẪ मƏ MERCENARY को ZREPRANEL के 頄प मƏ कूटबД ꞈकया जाता है तो RACEME को कैसे
कूटबД ꞈकया जाएगा?

A. ENPRRZ B. ENRPRZ

C. ENRPZR D. ENPRZR

Correct Ans: D

Q19. In a different coding system VACATION is coded as 21310954, how is NOTATION coded
as?

A. 45010954 B. 45001954

C. 45001195 D. 45010945
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Correct Ans: A

Q19. यнद एक ꜞभŢन कूट ļणालẪ मƏ VACATION को 21310954 के 頄प मƏ कूटबД ꞈकया जाता है तो NOTATION को कैसे
कूटबД ꞈकया जाएगा?

A. 45010954 B. 45001954

C. 45001195 D. 45010945

Correct Ans: A

Q20. From the four answer choices, find the missing element in the question figure to
complete the series. 

A.  B. 

C.  D. 

Correct Ans: D

Q20. ŗृखंला को परूा करने के ꜞलए ļżन आकृпत मƏ लुţत आकृпत को उŘतर के चार ꞉वकŹपҖ मƏ से Ðात करƏ।
ļżन आकृпत 

A.  B. 

C.  D. 

Correct Ans: D
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Q21. Firewalls cannot provide:

A. protection against viruses originated
from infected USB flash drives

B. protection against unauthenticated interactive logins

C. protection against network­borne
attacks

D. None of the options

Correct Ans: A

Q21. फायरवाल यह नहẪं मुहैया करा सकती है:

A. इŢफेěटेड USB Ťलैश Įाइव से आने वाले वायरस
से सुर¦ा

B. अļमाꜟणत इंटरेिěटव लॉगइन से सुर¦ा

C. नेटवकΩ ­बोनΩ हमलҖ से सुर¦ा D. उपयुΩěत मƏ से कोई ꞉वकŹप नहẪं

Correct Ans: A

Q22. What does the term “DMZ” in computer networks stand for?

A. Database Manage Zone B. Demilitarized Zone

C. Data Militarized Zone D. Database Migrate Zone

Correct Ans: B

Q22. कंţ यटूर नेटवě सΩ मƏ “DMZ” पद का ě या अꜞभļाय है?

A. डाटाबेस मैनेज ज़ोन B. ꞊डꜞमलẪĬाइŃड ज़ोन

C. डाटा ꜞमलẪĬाइŃड ज़ोन D. डाटाबेस माइĤेट ज़ोन

Correct Ans: B

Q23. Examples of system software includes:

A. Operating systems B. Utility programs

C. Compilers D. All of the options

Correct Ans: D

Q23. ꜞसΘटम सॉŤटवेयर के उदाहरणҖ मƏ शाꜞमल हҒ:

A. ऑपरेнटगं ꜞसΘटम B. यटूẪꜞलटẪ ļोĤाम

C. कůपाइलसΩ D. उपयुΩěत सभी ꞉वकŹ प

Correct Ans: D

Q24. Which of the following user interface you need to open to uninstall a program from your
Windows 8 system?

A. Internet Explorer B. Control Panel

C. Windows Explorer D. Recycle bin

Correct Ans: B

Q24. अपने Windows 8 ꜞसΘटम से ꞈकसी ļोĤाम को अनइंΘटॉल करने के ꜞलए, आपको пनůनꜞलꜟखत कौनसा यज़ूर इंटरफेस खोलने
कẮ ज頄रत है?

A. इंटरनेट एěसţलोरर B. कंĬोल पनैल
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C. ꞉वडंोज एěसţलोरर D. мरसाइकल оबन

Correct Ans: B

Q25. An attribute or a combination of attributes in one table whose values must either match
the primary key in another table or be null is called __________.

A. Secondary Key B. Super key

C. Candidate Key D. Foreign Key

Correct Ans: D

Q25. एक टेबल के ꜞलए एक एĬẪťयटू या एĬẪťय￦ूस का कॉůबीनेशन, िजसकẮ वŹैय ूएक अŢय टेबल मƏ ļाइमरẪ ­ कẮ के बराबर होनी चाнहए
या शूŢय होनी चाнहए, कहलाता है:

A. सेकƏ डरẪ कẮ B. सुपर कẮ

C. कҒ डीडेट कẮ D. फॉरेन कẮ

Correct Ans: D

Q26. Identify the odd one.

A. Monitor B. Printer

C. Speaker D. Keyboard

Correct Ans: D

Q26. ꞉वषम कẮ पहचान करƏ।

A. मॉनीटर B. ꞉ļटंर

C. Θपीकर D. कẮ­बोडΩ

Correct Ans: D

Q27. A USB protocol is a ______ channel.

A. Simplex B. Half­duplex

C. Full­duplex D. Both simplex and half­duplex

Correct Ans: C

Q27. एक USB ļोटोकॉल एक ______ चनैल है।

A. ꜞसţंलेěस B. हाफ­₭यţूलेěस

C. फुल­₭यţूलेěस D. ꜞसţंलेěस और हाफ­₭यţूलेěस, दोनҖ

Correct Ans: C

Q28. The distance between the ___________affects the size of the projected contents on an
LCD projector.

A. Projector and wall B. Projector and screen

C. Projector and audience D. None of the options

Correct Ans: B

Q28. ___________ के बीच कẮ दरूẪ एक LCD ļोजेěटर पर ļ¦े꞉पत सामĤी के साइज को ļभा꞉वत करती है।

A. ļोजेěटर और दẪवार B. ļोजेěटर और ΘĢẮन
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C. ļोजेěटर और दशΩक D. उपयुΩěत मƏ से कोई ꞉वकŹप नहẪं

Correct Ans: B

Q29. The security provided by Internet Protocol Security (IPsec) work at:

A. Transport layer B. Network layer

C. Application layer D. Session layer

Correct Ans: B

Q29. इंटरनेट ļोटोकॉल ꜞसěयोмरटẪ (IPsec) ₯वारा मुहैया कराई जाने वालẪ ꜞसěयोмरटẪ कहां पर काम करती है:

A. ĬांसपोटΩ लेयर B. नेटवकΩ  लेयर

C. एţलẪ्केशन लेयर D. सेशन लेयर

Correct Ans: B

Q30. Wireless Protected Access 2 (WPA2) security authentication is commonly used on:

A. Ethernet B. Bluetooth

C. Wi­fi D. All of the options

Correct Ans: C

Q30. आमतौर पर, वायरलेस ļोटेिěटड एěसेस 2 (WPA2) ꜞसěयोмरटẪ ऑथेŢटẪकेशन कहां पर इΘतेमाल ꞈकया जाता है:

A. इथरनेट B. ťलूटूथ

C. वाई­फाई D. उपयुΩěत सभी ꞉वकŹप

Correct Ans: C

Q31. An attack which makes the computer resources unavailable to its intended users is called

A. Denial­of­service attack B. Virus attack

C. Worms attack D. Botnet process

Correct Ans: A

Q31. ऐसा अटैक जो कंţयटूर мरसोꜞसΩस को उसके वांпछत यज़ूसΩ के ꜞलए अनपुलťध बना देता है, कहलाता है:

A. ꞊डनायल­ऑफ­स꞉वΩस अटैक B. वायरस अटैक

C. वůसΩ अटैक D. बोटनेट ļोसेस

Correct Ans: A

Q32. _______ is considered as a “Scareware” as it forces users to pay a fee by scaring or
intimidating them.

A. Spam B. Adware

C. Spyware D. Ransomware

Correct Ans: D

Q32. _______ को एक “Θकेरवेयर” माना जाता है ěयҖꞈक यह यज़ूसΩ को डराकर या धमकाकर एक फẮस चकुाने के ꜞलए उŢहƏ मजबरू
करता है।

A. Θपाम B. एडवेयर

Downloaded from www.cclchapter.com



C. Θपाईवेयर D. रैŢसमवेयर

Correct Ans: D

Q33. The act to obtain confidential information from a user by falsifying their identity is called
________.

A. Computer virus B. Spyware scam

C. Phishing scam D. None of the options

Correct Ans: C

Q33. यज़ूसΩ कẮ पहचान मƏ हेर­फेर करके यज़ूसΩ से गţु त सूचना ļाţ त करने का कृŘ य ________ कहलाता है।

A. कंţयटूर वायरस B. Θपायईवेयर Θकैम

C. ꞈफꜞशगं Θ कैम D. उपयुΩě त मƏ से कोई ꞉वकŹप नहẪं

Correct Ans: C

Q34. In C++, ______ is the syntax used to access data members of an object.

A. object@datamember B. object*datamember

C. object­>datamember D. object.datamember

Correct Ans: D

Q34. C++ मƏ, ______ वह ꜞसŢटैěस है जो एक वΘतु के डाटा मेů बसΩ को एě सेस करने के ꜞलए इΘतेमाल ꞈकया जाता है।

A. object@datamember B. object*datamember

C. object­>datamember D. object.datamember

Correct Ans: D

Q35. In Java, _____ is the range of "byte" data type.

A. ­128 to 127 B. ­32768 to 32767

C. ­2147483648 to 2147483647 D. ­1 to +1

Correct Ans: A

Q35. जावा मƏ, “बाइट” डाटा टाइप कẮ रƏज _____ है।

A. ­128 से 127 B. ­32768 से 32767

C. ­2147483648 से 2147483647 D. ­1 से +1

Correct Ans: A

Q36. Which is NOT a computer peripheral?

A. Tape drive B. Motherboard

C. Microphone D. Light Pen

Correct Ans: B

Q36. इनमƏ से कौन सा एक कंţयटूर पेरẪफरल नहẪं है?

A. टेप Įाइव B. मदरबोडΩ

C. माइĢोफोन D. लाइट पेन
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Correct Ans: B

Q37. Which is the temporary memory that provides high­speed data access to a processor?

A. Random Access Memory (RAM) B. Cache

C. Read Only Memory (ROM) D. Flash

Correct Ans: B

Q37. वह टƏपोररẪ मेमोरẪ कौन सी है जो एक ļोसेसर को हाई­Θपीड डाटा एě सेस मुहैया कराती है?

A. रҒडम एěसेस मेमोरẪ (RAM) B. Cache

C. रẪड ओनलẪ मेमोरẪ (ROM) D. Ťलैश

Correct Ans: B

Q38. Which one can generate images to a computer monitor?

A. Sound card B. Video card

C. Expansion card D. Modem

Correct Ans: B

Q38. इनमƏ से कौन सा एक कंţयटूर मॉनीटर के ꜞलए इमेज जेनरेट कर सकता है?

A. साउंड काडΩ B. वी꞊डयो काडΩ

C. एěसपƏशन काडΩ D. मॉडेम

Correct Ans: B

Q39. Which of the following is a strong password?

A. 29thSeptember88 B. Bangalore88

C. !augustdelhi@# D. P@a55w0rd

Correct Ans: D

Q39. пनůनꜞलꜟखत कौन सा एक ताकतवर पासवडΩ है?

A. 29thSeptember88 B. Bangalore88

C. !augustdelhi@# D. P@a55w0rd

Correct Ans: D

Q40. X*(Y.Z)=(X*Y).(X*Z) is the:

A. commutative property B. distributive property

C. associative property D. identity property

Correct Ans: B

Q40. X*(Y.Z)=(X*Y).(X*Z) है:

A. कॉůयटेुнटव ļोपटỀ B. ꞊डΘĬẪťयнूटव ļोपटỀ

C. एसोꜞसएнटव ļोपटỀ D. आइडƏнटटẪ ļोपटỀ

Correct Ans: B
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Q41. Which of the following user interface allows you to create files and folders in Windows 7
operating systems?

A. Windows Explorer B. Internet Explorer

C. Recycle Bin D. Basic Input/output system (BIOS)

Correct Ans: A

Q41. пनůनꜞलꜟखत कौन सा यज़ूर इंटरफेस आपके ꜞलए ꞉वडंोज 7 ऑपरेнटगं ꜞसΘटम मƏ फाइलҖ और फोŹडरҖ को बनाना संभव करता है?

A. ꞉वडंोज एěसţलोरर B. इंटरनेट एěसţलोरर

C. мरसाइकल оबन D. बेꜞसक इŢपटु/आउटपटु ꜞसΘटम (BIOS)

Correct Ans: A

Q42. Layer between the computer hardware and user is called as _________.

A. Device driver B. Keyboard

C. Operating System D. Monitor

Correct Ans: C

Q42. कंţयटूर हाडΩवेयर और यज़ूर के बीच कẮ लेयर को _________ कहा जाता है।

A. ꞊डवाइस Įाइवर B. कẮ­बोडΩ

C. ऑपरेнटगं ꜞसΘटम D. मॉनीटर

Correct Ans: C

Q43. As the processes are loaded and removed from the memory, the free space in memory is
broken into scattered pieces. This process in operating system is called ______.

A. Mapping B. Segmentation

C. Paging D. Fragmentation

Correct Ans: D

Q43. जब मेमोरẪ मƏ ļोसेꜞसस को लोड ꞈकया और हटाया जाता है तो मेमोरẪ मƏ उपलťध ŅẮ Θपेस оबखरे हुए टुकड़Җ मƏ बटं जाती है।
ऑपरेнटगं ꜞसΘटम मƏ यह ļोसेस ______ कहलाता है।

A. मै꞉पगं B. सेĺमƏटेशन

C. पेिजगं D. ŅेĺमƏटेशन

Correct Ans: D

Q44. You have to review and make revisions to your team's project report in MS Word 2010
and provide a feedback. Which of the following features of MS Word 2010 should you use?

A. Auto Summarize B. Track Changes

C. Compare and Merge documents D. Mail Merge

Correct Ans: B

Q44. आपको अपनी टẪम कẮ ļोजेě ट мरपोटΩ को MS Word 2010 मƏ мरŻ य ूकरना और उसमƏ ज頄रẪ संशोधन करना हҒ। आपको MS
Word 2010 का пनů नꜞलꜟखत कौन सा फẮचर इΘ तेमाल करना चाнहए?

A. Auto Summarize B. Track Changes

C. Compare and Merge Documents D. Mail Merge
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Correct Ans: B

Q45. You want to send a Word document as an email attachment. Which of the following
commands in Word 2010 would help you to perform the requirement?

A. Save & Send B. Print

C. Save As D. Save

Correct Ans: A

Q45. आप एक वडΩ डॉěयमुƏट को ईमेल अटैचमƏट के 頄प मƏ भेजना चाहते हҒ। वडΩ 2010 मƏ пनůनꜞलꜟखत कौन सी कमांड यह कायΩ करने
मƏ आपकẮ मदद करेगी?

A. Save & Send B. Print

C. Save As D. Save

Correct Ans: A

Q46. Which combination of keys will you use to write the subscript 2 in X2 in MS Word 2010?

A. Press Alt and = B. Press Ctrl and =

C. Press Shift, Alt, and = D. Press Alt, Shift, Ctrl and =

Correct Ans: B

Q46. आपको MS Word 2010 मƏ X2 मƏ 2 को सबिΘĢţ ट मƏ ꜞलखने के ꜞलए пनůनꜞलꜟखत ꞈकन बटनҖ को एक साथ इΘतेमाल
करना चाнहए?

A. Alt और = को दबाना B. Ctrl और = को दबाना

C. Shift, Alt, और = को दबाना D. Alt, Shift, Ctrl और = को दबाना

Correct Ans: B

Q47. In your document, the review pane appears vertically. What will you perform to display it
horizontally?

A. Click View ­> Reviewing Pane ­>
Review Pane Horizontal

B. Click Review ­> Show Markup ­> Review Pane Horizontal

C. Click Review ­> Reviewing Pane ­>
Review Pane Vertical

D. Click Review ­> Reviewing Pane ­> Review Pane Horizontal

Correct Ans: D

Q47. आपके डॉěयमुƏट मƏ review pane सीधा खड़ा нदखाई दे रहा है। आप ěया करƏगे ताꞈक वह आड़ा нदखाई पड़े?

A. View ­> Reviewing Pane ­> Review
Pane Horizontal को िěलक करना

B. Review ­> Show Markup ­> Review Pane Horizontal को िěलक
करना

C. Review ­> Reviewing Pane ­> Review
Pane Vertical को िěलक करना

D. Review ­> Reviewing Pane ­> Review Pane Horizontal को
िěलक करना

Correct Ans: D

Q48. What will be the output of, = Count B1:B99 in an MS Excel 2010 document?

A. Count is an invalid function. B. Counts the number of cells B1 through B98 that contains
numbers.

C. #NULL! appears in the respective cell. D. Counts the number of cells B1 through B99 that contains
numbers.
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Correct Ans: D

Q48. MS Excel 2010 डॉěयमुƏट मƏ = Count B1:B99 का आउटपटु ěया होगा?

A. Count एक अमाŢय फंěशन है। B. B1 से लेकर B98 तक सेŹस कẮ गणना करता है िजनमƏ संĹयाएं मौजदू हҖ।

C. संबꞋंधत सेल मƏ #NULL! ļकट होता है। D. B1 से लेकर B99 तक सेŹस कẮ गणना करता है िजनमƏ संĹयाएं मौजदू हҖ।

Correct Ans: D

Q49. What will be the output of =SUM (C2:C8) in MS Excel?

A. Displays the sum of cells C2 through
C8 that contains numbers.

B. Counts the number of cells.

C. Displays the sum of cells C1 through
C7 that contains numbers.

D. NULL appears in the respective cell.

Correct Ans: A

Q49. MS Excel मƏ =SUM (C2:C8) का आउटपटु ě या होगा?

A. C2 से लेकर C8 cell तक जोड़ нदखाता है िजसमƏ
संĹ याएं मौजदू हҖ।

B. कुल सेŹ स कẮ संĹ या कẮ Ꞌगनती करता है।

C. C1 से लेकर C7 सेŹस तक का जोड़ нदखाता है
िजनमƏ संĹयाएं मौजदू हҖ।

D. संबꞋंधत सेल मƏ NULL ļकट होता है।

Correct Ans: A

Q50. You want to arrange the data in column A in ascending order. Which of the following
command would you use in MS Excel 2010?

A. Sort B. Filter

C. Consolidate D. Group

Correct Ans: A

Q50. आप कॉलम A मƏ डाटा को आरोहẪ Ģम मƏ लगाना चाहते हҒ। आप MS Excel 2010 मƏ कौन सी कमांड इΘतेमाल करƏगे?

A. Sort B. Filter

C. Consolidate D. Group

Correct Ans: A

Q51. What will you do to insert a formula in Microsoft Excel 2010?

A. Choose the New command from the
File menu and enter the formula.

B. Select the cell, type = sign and then type the formula.

C. Select the cell and type the formula. D. Select the cell, type + sign and type the formula.

Correct Ans: B

Q51. माइĢोसॉŤट एěसेल 2010 मƏ एक फॉमूΩला इŢसटΩ करने के ꜞलए आप ěया करƏगे?

A. File मेŢय ूसे New command को चनुना और
फॉमूΩला एंटर करना

B. सेल को सेलेěट करना, = का ꞋचΦन टाइप करना और ꞈफर फॉमूΩला टाइप
करना

C. सेल को सेलेěट करना और फॉमूΩला टाइप करना D. सेल को सेलेěट करना, + का ꞋचΦन टाइप करना और फॉमूΩला टाइप करना

Correct Ans: B
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Q52. How will you add a new slide in PowerPoint 2010?

A. On the Home tab, click New Slide. B. On the Insert tab, click New Slide.

C. On the Slide Show tab, click New Slide. D. On the Design tab, click New Slide.

Correct Ans: A

Q52. आप कैसे पावरţवाइंट 2010 मƏ एक नई Θलाइड को जोड़ेगƏ?

A. Home टैब पर New Slide पर िěलक करना B. Insert टैब पर New Slide पर िěलक करना

C. Slide Show टैब पर New Slide पर िěलक
करना

D. Design टैब पर New Slide पर िěलक करना

Correct Ans: A

Q53. How will you view a PowerPoint 2010 presentation in slide show view?

A. On the Slide Show tab, click From
Beginning.

B. On the Slide Show tab, click Start ­> Broadcast Slide Show.

C. On the File tab, click Print. D. On the File tab, click Save.

Correct Ans: A

Q53. कैसे आप एक पावरţवाइंट 2010 ļेजƏटेशन को Θ लाइड शो Żय ूमƏ देखƏगे?

A. Slide Show टैब पर From Beginning पर
िěलक करना

B. Slide Show टैब पर Start ­> Broadcast Slide Show पर िěलक
करना

C. File टैब पर Print पर िěलक करना D. File टैब पर Save पर िěलक करना

Correct Ans: A

Q54. The online travel portal, MakeMyTrip, is headquartered in which city?

A. New Delhi B. Mumbai

C. Gurugram D. Chandigarh

Correct Ans: C

Q54. ऑनलाइन Ĭेवल पोटΩल, मेकमाईнĬप का मुĹयालय ꞈकस शहर मƏ है?

A. नई нदŹलẪ B. मुंबई

C. ग⁸ुĤाम D. चडंीगढ़

Correct Ans: C

Q55. Which of the following is a woman freestyle wrestler who won India's first ever gold
medal in wrestling at the Commonwealth Games in 2010?

A. Babita Kumari Phogat B. Geeta Phogat

C. Priyanka Phogat D. Ritu Phogat

Correct Ans: B

Q55. пनůनꜞलꜟखत कौन वह मнहला ŅẮΘटाइल कुżतीबाज है िजसने 2010 के राΓĬमंडल खेलҖ मƏ भारत का अब तक पहला ΘवणΩ पदक
जीता है?

A. बоबता कुमारẪ फोगाट B. गीता फोगाट

C. ꞉ļयकंा फोगाट D. रẪतू फोगाट
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Correct Ans: B

Q56. Haryana State was formed in which year?

A. 1965 B. 1954

C. 1960 D. 1966

Correct Ans: D

Q56. ꞈकस वषΩ मƏ हмरयाणा राŃय कẮ Θथापना हुई थी?

A. 1965 B. 1954

C. 1960 D. 1966

Correct Ans: D

Q57. What is the full form of NTPC, one of India's largest energy Company?

A. National Thermal Power Corporation B. Northern Territories Power Corporation

C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A

Q57. भारत कẮ एक सबसे बड़ी ऊजाΩ कंपनी, NTPC का परूा नाम ěया है?

A. National Thermal Power Corporation B. Northern Territories Power Corporation

C. National Tidal Power Corporation D. Northern Thermal Power Corporation

Correct Ans: A

Q58. What is the full form of NASSCOM?

A. National Association of Software and
Services Companies

B. Natural Association of Software and Services Companies

C. National Accreditation of Software and
Services Companies

D. National Amalgamation of Software and Services Companies

Correct Ans: A

Q58. NASSCOM का परूा नाम ěया है?

A. National Association of Software and
Services Companies

B. Natural Association of Software and Services Companies

C. National Accreditation of Software and
Services Companies

D. National Amalgamation of Software and Services Companies

Correct Ans: A

Q59. Name the first Chief Minister of Haryana?

A. Shri. Manohar Lal Khattar B. Shri. Bhagwat Dayal Sharma

C. Shri. Bansi Lal D. Shri. Bhajan Lal

Correct Ans: B

Q59. हмरयाणा के पहले मुĹय मंĵी का नाम बतायƏ?

A. ŗी मनोहर लाल खⱭर B. ŗी भगवत दयाल शमाΩ

C. ŗी बŢसी लाल D. ŗी भजन लाल

Correct Ans: B
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Q60. IBM has its headquarters in which city in India?

A. Gurugram B. Mumbai

C. Hyderabad D. Bengaluru

Correct Ans: D

Q60. भारत मƏ ꞈकस शहर मƏ IBM का मुĹयालय है?

A. ग⁸ुĤाम B. मुंबई

C. हैदराबाद D. बƏगलू⁸

Correct Ans: D

Q61. What is the expansion of HTTPS?

A. HyperText Transfer Protocol Social B. HyperText Transfer Protocol Security

C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q61. HTTPS का पणूΩ 頄प ěया है?

A. HyperText Transfer Protocol Social B. HyperText Transfer Protocol Security

C. HyperText Transfer Protocol Secure D. HyperText Transmission Protocol Secure

Correct Ans: C

Q62. Maruti Suzuki has its production facility in which of the following places?

A. Manesar B. Faridabad

C. Bhiwani D. Sonipat

Correct Ans: A

Q62. пनůनꜞलꜟखत ꞈकस जगह पर मा頄пत सुजकुẮ का कारखाना है?

A. मानेसर B. फरẪदाबाद

C. ꜞभवानी D. सोनीपत

Correct Ans: A

Q63. Virender Sehwag's Cricket Academy and School is located in which district of Haryana?

A. Gurugram B. Bhiwani

C. Rohtak D. Jhajjar

Correct Ans: D

Q63. हмरयाणा के ꞈकस िज़ ले मƏ वीरेŢķ सहवाग ꞈĢकेट एकेडमी और Θकूल िΘथत है?

A. ग⁸ुĤाम B. ꜞभवानी

C. रोहतक D. झŃजर

Correct Ans: D

Q64. Who is Anita Kundu?
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A. She is a Writer B. She is an Olympic athlete

C. She is a Wrester D. She is a Mountaineer

Correct Ans: D

Q64. अпनता कंुडू कौन है?

A. वह एक लेꜟखका हҒ B. वह एक ओलिůपक एथलẪट हҒ

C. वह एक कुżतीबाज हҒ D. वह एक पवΩतारोहẪ हҒ

Correct Ans: D

Q65. In which city is the Indian Institute of Management (IIM), located in Haryana?

A. Faridabad B. Gurugram

C. Rohtak D. Chandigarh

Correct Ans: C

Q65. हмरयाणा के ꞈकस शहर मƏ भारतीय ļबधंन संΘथान (IIM) िΘथत है?

A. फरẪदाबाद B. ग⁸ुĤाम

C. रोहतक D. चडंीगढ़

Correct Ans: C

Q66. The Central Institute for Research on Buffaloes is located at?

A. Hisar B. Chandigarh

C. Mahendragarh D. Sirsa

Correct Ans: A

Q66. केŢķẪय भҒस अनसुंधान संΘथान कहां िΘथत है?

A. нहसार B. चडंीगढ़

C. महेŢķगढ़ D. ꜞसरसा

Correct Ans: A

Q67. Haryanvi language is written in ____________ script.

A. Pallava B. Devanagari

C. Brahmi D. Kaithi

Correct Ans: B

Q67. हмरयाणवी भाषा को ____________ वतΩनी मƏ ꜞलखा जाता है।

A. पŹलवा B. देवनागरẪ

C. ņΦमी D. कैथी

Correct Ans: B

Q68. The Munshi Gumani Lal Award is presented for excellence in which field?

A. Shooting B. Athletics

C. Literature D. Handicraft making
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Correct Ans: C

Q68. मुंशी गमुानी लाल परुΘकार ꞈकस ¦ेĵ मƏ उŘकृΓटता हेतु ļदान ꞈकया जाता है?

A. пनशानेबाजी B. ऐथलैнटěसी

C. साнहŘय ् D. ꜞशŹप ्пनमाΩण

Correct Ans: C

Q69. Saina Nehwal, India's ace badminton player, was born in?

A. Chandigarh B. Hisar

C. Hyderabad D. Panipat

Correct Ans: B

Q69. साइना नेहवाल, भारत कẮ सवΩŗेΓठ बडैꜞमटंन ꜟखलाड़ी कहां पदैा हुई थी?

A. चडंीगढ़ B. нहसार

C. हैदराबाद D. पानीपत

Correct Ans: B

Q70. The first battle of Panipat was fought in which year?

A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q70. पानीपत कẮ पहलẪ लड़ाई ꞈकस साल मƏ लड़ी गई थी?

A. 1678 B. 1536

C. 1680 D. 1526

Correct Ans: D

Q71. Badkhal Lake, near Faridabad, is fringed by which mountain range?

A. Aravalli Range B. Vindhya Range

C. Satpura Range D. Hindu Kush

Correct Ans: A

Q71. फरẪदाबाद के पास बड़कल झील ꞈकस पवΩतमाला के ꞈकनारे पर िΘथत है?

A. अरावलẪ पवΩतमाला B. ꞉वśंया पवΩतमाला

C. सतपरुा पवΩतमाला D. нहंद ूकुश

Correct Ans: A

Q72. Which river that flows through Haryana originates from Dagshai in Himachal Pradesh?

A. Ghaggar River B. Yamuna River

C. Ganges River D. Chenab River

Correct Ans: A

Q72. нहमाचल ļदेश मƏ डगशाई से उЗव करने वालẪ कौन सी नदẪ हмरयाणा मƏ से बहती है?
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A. घĺगर नदẪ B. यमुना नदẪ

C. गंगा नदẪ D. चेनाब नदẪ

Correct Ans: A

Q73. Who took oath as the Chief Justice of Punjab and Haryana High Court in August, 2016?

A. Justice Ajay Kumar Mittal B. Justice Surya Kant

C. Justice SS Kairo D. Justice S Jal Vazifdar

Correct Ans: D

Q73. अगΘत, 2016 को ꞈकसने पजंाब और हмरयाणा उĿच Ţयायालय के मुĹय Ţयायपпूत Ω के 頄प मƏ शपथ Ĥहण कẮ थी?

A. Ţयायमूпत Ω अजय कुमार ꜞमŘतल B. Ţयायमूпत Ω सूयΩ कांत

C. Ţयायमूпत Ω एस एस कैरҖ D. Ţयायमूпत Ω एस जल वजीफदार

Correct Ans: D

Q74. Who is popularly known as the "Haryana Hurricane"?

A. Irfan Pathan B. Ashish Nehra

C. Kapil Dev D. Virender Sehwag

Correct Ans: C

Q74. कौन "हмरयाणा हмरकेन" के नाम से लोक꞉ļय है?

A. इरफान पठान B. अशीष नेहरा

C. क꞉पल देव D. वीरेŢķ सहवाग

Correct Ans: C

Q75. The brand ambassador for "Beti Bachao Beti Padhao" campaign in Haryana is?

A. Sakshi Malik B. Deepika Padukone

C. Priyanka Chopra D. Geeta Phogat

Correct Ans: A

Q75. हмरयाणा मƏ "बेटẪ बचाओ बेटẪ पढ़ाओ" अꜞभयान कẮ ņाŕडा अůबेसडर कौन है?

A. सा¦ी मꜞलक B. दẪ꞉पका पादकुोन

C. ꞉ļयकंा चोपड़ा D. गीता फोगाट

Correct Ans: A

Q76. The Regional Centre for Biotechnology (RCB) is an academic institution established by
the Department of Biotechnology, Govt. of India with global partnership with UNESCO. Where
is its permanent campus expected to be located?

A. Hisar B. Faridabad

C. Rohtak D. Mewat

Correct Ans: B

Q76. ¦ेĵीय बाइयोटेěनालजी केŢķ (RCB) बाइयोटेěनालजी ꞉वभाग, भारत सरकार ₯वारा UNESCO के साथ विैżवक भागीदारẪ मƏ
Θथा꞉पत ꞈकया गया एक शै¦ꜟणक संΘथान है। इसका Θथायी पмरसर कहां िΘथत होने कẮ संभावना है?
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A. нहसार B. फरẪदाबाद

C. रोहतक D. मेवात

Correct Ans: B

Q77. The International Crafts Mela, one of the largest crafts fair in the world, was held in
which place in 2016 ?

A. Rohtak B. Surajkund

C. Karnal D. Jind

Correct Ans: B

Q77. 2016 मƏ, ꞉वżव का एक सबसे बड़ा ꜞशŹप मेला, अतंराΩΓĬẪय ꜞशŹप मेला कहां आयोिजत ꞈकया गया था?

A. रोहतक B. सूरजकंुड

C. करनाल D. जींद

Correct Ans: B

Q78. Chandimandir Cantonment, the headquarters of the Indian Army's Western Command, is
located in which city?

A. Panchkula city B. Chandigarh

C. Morni D. Pinjore

Correct Ans: A

Q78. भारतीय थल सेना कẮ वेΘटनΩ कमांड का मुĹयालय चडंीमंнदर छावनी ꞈकस शहर मƏ है?

A. पचंकुला शहर B. चडंीगढ़

C. मोरनी D. ꞉पजंौर

Correct Ans: A

Q79. Karnal was known to be the birth­place of Pakistan's first Prime Minister. Name him.

A. Zulfiqar Ali Bhutto B. Liaquat Ali Khan

C. Shauquat Aziz D. Shujaat Hussain

Correct Ans: B

Q79. करनाल पाꞈकΘतान के पहले ļधान मंĵी कẮ जŢमΘथलẪ होने के ꜞलए ļꜞसД है। उनका नाम बतायƏ।

A. जŹुफẮकार अलẪ भुⱭो B. ꜞलयाकत अलẪ खान

C. शौकत अज़ीज़ D. शुजात हुसैन

Correct Ans: B

Q80. Which is the second largest city in Haryana?

A. Gurgaon (Gurugram) B. Faridabad

C. Ambala D. Hisar

Correct Ans: A

Q80. हмरयाणा मƏ दसूरा सबसे बड़ा शहर कौन सा है?
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A. गड़ुगांव (ग⁸ुĤाम) B. फरẪदाबाद

C. अबंाला D. нहसार

Correct Ans: A

Q81. Vikas Krishan Yadav from Bhiwani district in Haryana, won a gold medal in the 2010
Asian Games in which sports?

A. Boxing B. Swimming

C. High Jump D. Hockey

Correct Ans: A

Q81. हмरयाणा मƏ ꜞभवानी िज़ ले से ꞉वकास कृΓण यादव ने 2010 के एꜞशयाई खेलҖ मƏ ꞈकस खेल मƏ ΘवणΩपदक जीता था?

A. मुěकेाबाजी B. तैराकẮ

C. ऊँची कूद D. हॉकẮ

Correct Ans: A

Q82. The Nahar Singh Stadium in Faridabad is famous for which sports?

A. Football B. Hockey

C. Cricket D. Kabaddi

Correct Ans: C

Q82. फरẪदाबाद मƏ नाहर ꜞसहं Θटे꞊डयम ꞈकस खेल के ꜞलए ļꜞसД है?

A. फुटबाल B. हॉकẮ

C. ꞈĢकेट D. कब₭डी

Correct Ans: C

Q83. Where is The Technological Institute of Textile and Sciences, established by the Birla
Group, located?

A. Rohtak B. Bhiwani

C. Faridabad D. Sonipat

Correct Ans: B

Q83. оबरला समूह ₯वारा Θथा꞉पत टेěनोलॉिजकल इिŢΘट￦यटू ऑफ टैěसाटाइŹस एंड साइिŢसस कहां िΘथत है?

A. रोहतक B. ꜞभवानी

C. फरẪदाबाद D. सोनीपत

Correct Ans: B

Q84. The District of Kurukshetra is famous for which wildlife sanctuary?

A. Ranthambore Wildlife Sanctuary B. Chhilchhila Wildlife Sanctuary

C. Kalesar National Park D. Khaparwas Wildlife Sanctuary

Correct Ans: B

Q84. कु⁸¦ेĵ िज़ ला ꞈकस वŢय जीव अŮ यारŕ य के ꜞलए ļꜞसД है?
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A. रणथůभौर वŢय जीव अŮ यारŕ य B. пछलпछला वŢयजीव अŮ यारŕ य

C. कालेसर राΓĬẪय उ₯यान D. खापरवास वŢयजीव अŮ यारŕ य

Correct Ans: B

Q85. The BILT Football stadium is located in which place in Haryana?

A. Rohtak B. Yamunanagar

C. Faridabad D. Sonipat

Correct Ans: B

Q85. हмरयाणा मƏ BILT फुटबाल Θटे꞊डयम ꞈकस शहर मƏ है?

A. रोहतक B. यमुनानगर

C. फरẪदाबाद D. सोनीपत

Correct Ans: B

Q86. Where in Haryana would you find Gurudwara Neem Sahib?

A. Bhiwani B. Pinjore

C. Thaneswar D. Kaithal

Correct Ans: D

Q86. हмरयाणा मƏ ग⁸ु₯वारा नीम साнहब ꞈकस शहर मƏ िΘथत है?

A. ꜞभवानी B. ꞉पजंौर

C. थानेżवर D. कैथल

Correct Ans: D

Q87. Hathni Kund is a concrete barrage built on the Yamuna River, in which District?

A. Yamunanagar B. Palwal

C. Sirsa D. Rewari

Correct Ans: A

Q87. हथनी कंुड एक कंĢẮट बराज है िजसका пनमाΩण यमुना नदẪ पर ꞈकया गया है। यह ꞈकस िज़ ले मƏ है?

A. यमुनानगर B. पलवल

C. ꜞसरसा D. रेवाड़ी

Correct Ans: A

Q88. The Haryana government conferred the Haryana Gaurav Samman award on which
Bollywood playback singer recently?

A. Arijiit Singh B. Nakash Aziz

C. Sonu Nigam D. Abhijit Bhattacharya

Correct Ans: C

Q88. हाल हẪ मƏ हмरयाणा सरकार ने ꞈकस बॉलẪवडु ţलेबकै गायक को हмरयाणा गौरव सůमान परुΘकार से सůमाпनत ꞈकया है?

A. अмरजीत ꜞसहं B. नकाश अज़ीज़
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C. सोन ूпनगम D. अꜞभजीत भⱭाचायΩ

Correct Ans: C

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word. 

Gautam Buddha renounced the worldly pleasures to seek enlightenment.

A. stopped B. donated

C. gave up D. forgot

Correct Ans: C

Q90. Instructions: Read the sentence and identify the correct word that best suits the
underlined word. 

Amit managed to collect donation for the charity event, with the help of his bountiful friends.

A. dutiful B. beautiful

C. liberal D. generous

Correct Ans: D

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

I ________ this office last month."

A. will join B. have joined

C. joined D. would join

Correct Ans: C

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Geeta is the __________ girl in the class.

A. most tall B. tallest

C. taller D. more taller

Correct Ans: B

Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Ritesh is always ready to help people at the drop of a hat.

A. rarely B. immediately

C. never D. slowly

Correct Ans: B

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Knitting a shawl for Lalitha was a piece of cake.

A. very easy B. Confusing
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C. difficult D. complicated

Correct Ans: A

Q95. пनदẽश ­ सवाΩꞋधक उपयěुत शťद/शťदҖ का ļयोग करते हुए वाěय परूा करƏ­ 

मेरे देखते­देखते आप बी.कॉम कẮ परẪ¦ा मƏ दो बार फेल हो चकेु हो लेꞈकन ꞈफर भी कोई यह नहẪं कह सकता ꞈक आपमƏ _______ नहẪं
हҒ ।

A. ज़ोर B. शिěत

C. ļпतभा D. साहस

Correct Ans: C

Q96. пनदẽश ­ सवाΩꞋधक उपयěुत शťद/शťदҖ का ļयोग करते हुए वाěय परूा करƏ­ 

ꜞमŗाजी बहुत गणुी हҒ । इसी कारण हम लोगҖ ने उनके ꜞसर पर लẪडरẪ का सेहरा _______ है।

A. пछपाया B. बाँधा

C. उतारा D. सजाया

Correct Ans: B

Q97. пनदẽश ­ रेखांꞈकत मुहावरे का अथΩ पहचानƏ 

सलẪम ने परẪ¦ा के ꜞलए साल भर खबू तैयारẪ कẮ है, वह इन मॉडल ļżन पĵҖ को तो अगंठेू पर रखता है ।

A. परवाह न करना B. बहुत śयान देना

C. बरुा मानना D. बहुत आसान होना

Correct Ans: A

Q98. пनदẽश ­ रेखांꞈकत मुहावरे का अथΩ पहचानƏ ­ 

सेठ बनवारẪ लाल कẮ जब से मेयर से दोΘती हुई है, उनका нदमाग आसमान पर है ।

A. अहंकारẪ होना B. हवाई ꞈकले बनाना

C. बहुत ļसŢन होना D. भावाпतरेक होना

Correct Ans: A

Q99. пनदẽश ­ 4 ꞉वकŹपҖ मƏ से нदए गए शťद का पयाΩयवाची शťद बताएँ –

अबंु

A. पानी B. आकाश

C. वायु D. कमल

Correct Ans: A

Q100. пनदẽश ­ 4 ꞉वकŹपҖ मƏ से нदए गए शťद का पयाΩयवाची शťद बताएँ –
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घोड़ा

A. तुरंग B. उरग

C. हारस D. तीŖ

Correct Ans: A
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Computer (Health Services department)
Adv. No 5/2016, Cat. No 27
Question Paper Evening Slot

Q1. What is the product of the largest four digit number and the smallest three digit number?

A. 99,900 B. 99,000

C. 999,990 D. 999,900

Correct Ans: D

Q1. चार अकंᘂ कᘂ सबसे बड़ी सं氅या और तीन अकंᘂ कᘂ सबसे छोटᘂ सं氅या का गणुनफल ȅया है?

A. 99,900 B. 99,000

C. 999,990 D. 999,900

Correct Ans: D

Q2. If 43 is subtracted from 53 and added to the square root of 144, we will get:

A. 61 B. 77

C. 21 D. 73

Correct Ans: D

Q2. य耂द 43 को 53 से घटाया और 144 के वगᜀ�मूल के साथ जमा 耂कया जाए तो हम� 찄ा调त होगा:

A. 61 B. 77

C. 21 D. 73

Correct Ans: D

Q3. What is the value if the largest two digit prime number is subtracted from the smallest
three digit prime number?

A. 6 B. 7

C. 5 D. 4

Correct Ans: D

Q3. य耂द दो अकंᘂ के सबसे बड़ी अभाȅय सं氅या को तीन अकंᘂ कᘂ सबसे छोटᘂ अभाȅय सं氅या से घटाया जाए तो ȅया मान 찄ा调त होगा?

A. 6 B. 7

C. 5 D. 4

Correct Ans: D

Q4.   can also be written as

A. 4 B. 9

C. 3 D. 2

Correct Ans: D

Q4.   को इस 찄कार भी 耂लखा जा सकता है:

A. 4 B. 9
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C. 3 D. 2

Correct Ans: D

Q5. A store offered a 25% discount on a shirt costing Rs. 1500. Since Ram purchased clothing
worth Rs. 5000, he got a further discount of 1%. What was the final price that he paid for the
shirt?

A. 1113.75 B. 1110.75

C. 1125.75 D. 1075.75

Correct Ans: A

Q5. एक दकुान 1500 頄पये कᘂ एक कमीज पर 25% छूट दे रहᘂ है। चू耂ँक राम 5000 頄पये के कपड़े खरᘂदे ह�, इस耂लए उसे 1%
अ耂त耂रȅत छूट भी 耂मलेगी। उसने उस कमीज के 耂लए 耂कतने अ耂ंतम मू頄य का भुगतान 耂कया?

A. 1113.75 B. 1110.75

C. 1125.75 D. 1075.75

Correct Ans: A

Q6. Rajesh took a loan at 9% per annum simple interest and invested in a project where he
got a return of 13%. At the end of 5 years he made a profit of Rs 15,000. What was the
original amount that he had loaned?

A. 60,000 B. 75,000

C. 90,000 D. 80,000

Correct Ans: B

Q6. राजेश ने 9% 찄耂त वषᜀ� साधारण 调याज पर एक ऋण 耂लया और उसका एक प耂रयेाजना म� 耂नवेश 耂कया जहां से उसे 13% का
찄耂तलाभ 찄ा调त हुआ। 5 वषᜀ� समा调त होने पर, उसने 15,000 頄पये का लाभ अिजᜀ�त 耂कया। वह मूल रकम ȅया है जो उसने ऋण के 㠅प म�
लᘂ थी?

A. 60,000 B. 75,000

C. 90,000 D. 80,000

Correct Ans: B

Q7. Amongst a group of 700 students, 210 have opted for science, 150 have opted for arts,
while 340 have opted for commerce. If a student is randomly selected from this group, what is
the probability that this student would have opted for science?

A. 0.25 B. 0.48

C. 0.45 D. 0.30

Correct Ans: D

Q7. 700 छा阄ᘂ के एक समूह म� से, 210 ने 耂व栆ान चनुी, 150 ने आ頄ᜀ�स चनुी, जब कᘂ 340 ने कॉमसᜀ� चनुी। य耂द इस समूह म� से
बेतरतीबी से एक छा阄 को चनुा जाए तो यह संभा调यता 耂कतनी है 耂क उस छा阄 ने 耂व栆ान चनुी होगी?

A. 0.25 B. 0.48

C. 0.45 D. 0.30

Correct Ans: D

Q8. What is the probability that when a coin is tossed twice successively the outcome would be
one heads and one tails?

A. 1/4 B. 1/2
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C. 2/3 D. 1

Correct Ans: B

Q8. जब एक 耂सȅके को लगातार दो बार उछाला जाए तो यह संभा调यता 耂कतनी है 耂क प耂रणाम एक 耂चत और एक पट होगा?

A. 1/4 B. 1/2

C. 2/3 D. 1

Correct Ans: B

Q9. A stationery shop is offering a set of stationery for Rs. 352, which is 12% discount of the
original sale price. What is the original sale price?

A. Rs. 400 B. Rs. 310

C. Rs. 375 D. Rs. 385

Correct Ans: A

Q9. एक लेखनसाम鐅ी दकुान लेखनसाम鐅ी का एक सेट 352 頄पये म� 耂व䈆य कर रहᘂ है जो मूल 耂व䈆य मू頄य पर 12% छूट के बाद का
मू頄य है। मूल 耂व䈆य मू頄य ȅया है?

A. 400 頄पये B. 310 頄पये

C. 375 頄पये D. 385 頄पये

Correct Ans: A

Q10. A trader deals in three types of products ­ apparels, cosmetics and stationery which are in
the ratio 2:4:5. If he sold a total of 110 items, how many cosmetics did he sell?

A. 20 B. 40

C. 50 D. 60

Correct Ans: B

Q10. एक 调 यापारᘂ तीन 찄कार कᘂ व頄 तुओं का 调 यापार करता है – कपड़े, शृंगारसाम鐅ी और लेखनसाम鐅ी, िजनका अनपुात 2:4:5 है।
य耂द वह कुल 110 व頄 तुओं कᘂ 耂ब䈆ᘂ करता है तो उसने कुल 耂कतनी शृंगारसाम鐅ी व頄 तुओं कᘂ 耂ब䈆ᘂ कᘂ?

A. 20 B. 40

C. 50 D. 60

Correct Ans: B

Q11. Find the odd­one out in the following:

Desktop, Calculator, Abacus, Laptop

A. Abacus B. Calculator

C. Laptop D. Desktop

Correct Ans: A

Q11. 耂न頄न 耂ल耂खत म� से 耂वषम 栆ात कर�:

डे頄कटॉप, कैलकुलेटर, एबेकस, लैपटॉप

A. एबेकस B. कैलकुलेटर

C. लैपटॉप D. डे頄कटॉप

Correct Ans: A
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Q12. Find the odd­one out in the following:

Letter, Envelope, Internet, Stamp

A. Envelope B. Stamp

C. Internet D. Letter

Correct Ans: C

Q12. 耂न頄न 耂ल耂खत म� से 耂वषम 栆ात कर�:

प阄, 耂लफाफा, इंटरनेट, डाक耂टकट

A. 耂लफाफा B. डाक耂टकट

C. इंटरनेट D. प阄

Correct Ans: C

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Chalk: Duster :: Pencil: ______?

A. Carbon B. Black

C. Note D. Eraser

Correct Ans: D

Q13. वह सवᜀ�ꈅे调ठ 耂वक頄प च耂ुनये जो मूल य쀃ुम म� अ耂भ调यȅत संबधं के सा頄ퟰ�य संबधं कᘂ सवᜀ�ꈅे调ठ अ耂भ调यिȅत करता है:

चाक : ड頄टर :: प�耂सल : ______?

A. काबᜀ�न B. कालᘂ

C. 耂लखना D. रबड़

Correct Ans: D

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Reliable: Dependable :: Careful: ______?

A. Cautious B. Remember

C. Silly D. Careless

Correct Ans: A

Q14. वह सवᜀ�ꈅे调ठ 耂वक頄प च耂ुनये जो मूल य쀃ुम म� अ耂भ调यȅत संबधं के सा頄ퟰ�य संबधं कᘂ सवᜀ�ꈅे调ठ अ耂भ调यिȅत करता है:

耂वퟰ�调सनीय : भरोसेमंद :: सावधान : ______?

A. चौकस B. याद र耂खये

C. मूखᜀ� D. लापरवाह

Correct Ans: A

Q15. Find the missing term: 22.5, 20, 17.5, _, 12.5
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A. 15.5 B. 15

C. 11.5 D. 10

Correct Ans: B

Q15. लु调त सं氅या 栆ात कᘂिजए: 22.5, 20, 17.5, _, 12.5

A. 15.5 B. 15

C. 11.5 D. 10

Correct Ans: B

Q16. If the TOYS are called the PILLOWS, PILLOWS are called the BED SHEETS, BED SHEETS
are called the BEDS, BEDS are called the JUICES and JUICES are called the DRINKS, what does
kids play with?

A. TOYS B. BED SHEETS

C. PILLOWS D. BEDS

Correct Ans: C

Q16. य耂द 耂खलौने को त耂कया कहा जाए, त耂कये को चादर कहा जाए, चादर को पलंग कहा जाए, पलंग को जसू कहा जाए और जसू को
पेय­पदाथᜀ� कहा जाए तो ब戄चे 耂कसके साथ खेल�गे?

A. 耂खलौना B. चादर

C. त耂कया D. पलंग

Correct Ans: C

Q17. If the BIKERS are called the CYCLISTS, CYCLISTS are called the SHARKS, SHARKS are
called the DOGS, DOGS are called the CATS and CATS are called the THIEVES, who barks?

A. THIEVES B. CYCLISTS

C. CATS D. DOGS

Correct Ans: C

Q17. य耂द बाइकर को साइक耂ल頄ट कहा जाए, साइक耂ल頄ट को शाकᜀ�  कहा जाए, शाकᜀ�  को कु萃ता कहा जाए, कु萃ते को 耂ब頄लᘂ कहा जाए और
耂ब頄लᘂ को चोर कहा जाए तो कौन भ坅�केगा?

A. चोर B. साइक耂ल頄टा

C. 耂ब頄लᘂ D. कु萃ता

Correct Ans: C

Q18. In a different coding system MAGNIFICENT is coded as 31749693540, how is INITIATE
coded as?

A. 94990105 B. 94909105

C. 94901905 D. 94919059

Correct Ans: B

Q18. य耂द एक 耂भⰄन कूट 찄णालᘂ म� MAGNIFICENT को 31749693540 के 㠅प म� कूटब氅 耂कया जाता है तो INITIATE को
कैसे कूटब氅 耂कया जाएगा?

A. 94990105 B. 94909105

C. 94901905 D. 94919059
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Correct Ans: B

Q19. In a different coding system ABSOLUTE is coded as NOFBYHGR, how is STABLE coded as?

A. FNGOYR B. FGNOYR

C. FGNYOR D. FGNROY

Correct Ans: B

Q19. य耂द एक 耂भⰄन कूट 찄णालᘂ म� ABSOLUTE को NOFBYHGR के 㠅प म� कूटब氅 耂कया जाता है तो STABLE को कैसे कूटब氅
耂कया जाएगा?

A. FNGOYR B. FGNOYR

C. FGNYOR D. FGNROY

Correct Ans: B

Q20. From the four answer choices, find the missing element in the question figure to
complete the series. 

A.  B. 

C.  D. 

Correct Ans: A

Q20. ꈅृखंला को परूा करने के 耂लए 찄ퟰ�न आकृ耂त म� लु调त आकृ耂त को उ萃तर के चार 耂वक頄पᘂ म� से 栆ात कर�।

A.  B. 
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C.  D. 

Correct Ans: A

Q21. Which of the following computer technology helps you to easily insert, retrieve, and
manage data from databases with appropriate security measures?

A. Database Management Systems
(DBMS)

B. Firewall

C. Anti­virus software D. Pen­drives

Correct Ans: A

Q21. 耂न頄न耂ल耂खत कौन सी कं调यटूर टेȅनालजी उपयȅुत सुर埔�ा उपायᘂ के साथ डाटाबेस से डाटा को आसानी से वापस 찄ा调त, डालने और
संभालने म� आपकᘂ मदद करती है?

A. डाटाबेस मैनेजम�ट 耂स頄टम (DBMS) B. फायरवाल

C. एंटᘂ­वायरस सॉȅटवेयर D. पेन­戄ाइ调स

Correct Ans: A

Q22. Which of the following constraints help uniquely identify records in a table?

A. Primary key constraint B. Foreign key constraint

C. Check constraint D. Default constraint

Correct Ans: A

Q22. 耂न頄न耂ल耂खत कौन सा 耂वक頄प एक टेबल म� 耂रकॉ戄ᜀ�स को अनठू圅� पहचान 찄दान करने म� मदद करता है?

A. 찄ाइमरᘂ कᘂ कं頄頄�ट B. फॉ耂रन कᘂ कं頄頄�ट

C. चेक कं頄頄�ट D. 耂डफॉ頄ट कं頄頄�ट

Correct Ans: A

Q23. Which of the following is an input device?

A. Keyboard B. Printer

C. CD­ROM D. Monitor

Correct Ans: A

Q23. 耂न頄न耂ल耂खत कौन सा 耂डवाइस इनपटु 耂डवाइस है?

A. कᘂ­बोडᜀ� B. 耂찄टंर

C. CD­ROM D. मॉनीटर

Correct Ans: A

Q24. Which of the following is NOT a computer peripheral?

A. Motherboard B. Scanner

C. LCD projector D. Pen drive
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Correct Ans: A

Q24. 耂न頄न耂ल耂खत कौन सा 耂वक頄प कं调यटूर पेरᘂफरल नहᘂं है?

A. मदरबोडᜀ� B. 頄कैनर

C. LCD 찄ोजेȅटर D. पेन 戄ाइव

Correct Ans: A

Q25. ____________ is a temporary memory that loses information when the computer is
switched off.

A. Random Access Memory (RAM) B. Read Only Memory (ROM)

C. Flash memory D. Electrically Erasable Programmable Read Only Memory
(EEPROM)

Correct Ans: A

Q25. ____________ एक ट�पोररᘂ मेमोरᘂ है जो कं调यटूर को बदं 耂कए जाने पर सूचना को गंवा देती है।

A. र�डम एȅसेीस मेमोरᘂ (RAM) B. रᘂड ओनलᘂ मेमोरᘂ (ROM)

C. ȅलैश मेमोरᘂ D. इलेȅ頄ᘂकलᘂ ईरेजेबल 찄ो鐅ामेबल रᘂड ओनलᘂ मेमोरᘂ (EEPROM)

Correct Ans: A

Q26. Bluetooth is a widely used technology for:

A. Wireless Personal Area Network
(WPAN)

B. Local Area Network (LAN)

C. Metropolitan Area Network (MAN) D. Wide Area Network (WAN)

Correct Ans: A

Q26. 调लूटूथ इसके 耂लए 调यापक 㠅प से इ頄तेमाल होने वालᘂ टेȅनालजी है:

A. वायरलेस पसᜀ�नल ए耂रया नेटवकᜀ�  (WPAN) B. लोकल ए耂रया नेटवकᜀ�  (LAN)

C. मे頄ोपो耂लटन ए耂रया नेटवकᜀ�  (MAN) D. वाइड ए耂रया नेटवकᜀ�  (WAN)

Correct Ans: A

Q27. A variable in programming is a:

A. named piece of memory for storing
data

B. procedure that performs some operation

C. Classification of data D. template that defines states and behaviors for creating
objects

Correct Ans: A

Q27. 찄ो鐅ा耂मगं म� एक वेरᘂएबल ȅया है:

A. डाटा 頄टोर करने के 耂लए मेमोरᘂ का नामां耂कत पीस B. वह 찄ोसीजर जो कुछ कायᜀ� करता है

C. डाटा का ȅलासी耂फकेशन D. वह टै頄调लेट जो ऑ调जेȅट कᘂ रचना करने के 耂लए अव頄थाल और 调यवहार को
प耂रभा耂षत करता है

Correct Ans: A

Q28. An object in an object oriented programming is:
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A. An instance of a class B. A template that defines a collection of fields and methods

C. A built­in data type D. An array that holds a collection of similar types

Correct Ans: A

Q28. एक ऑ调जेȅट ओ耂रऐं耂टड 찄ो鐅ा耂मगं म� ऑ调जेȅट है:

A. एक ȅला स का 頄调टांत B. एक टै頄调लेट जो फᘂ頄戄स और मेथ戄स के कलेȅशन को प耂रभा耂षत करता है

C. एक 耂ब頄ट­इन डाटा टाइप D. एक एरे जो सा頄ퟰ�य टाइ调स के कलेȅशन को धारण करता है

Correct Ans: A

Q29. Protocol used for forwarding e­mail messages is:

A. Simple Mail Transfer Protocol (SMTP) B. Post Office Protocol (POP)

C. Internet Message Access Protocol
(IMAP)

D. Secure Socket Layer (SSL) Protocol

Correct Ans: A

Q29. ईमेल मैसेज को फॉरवडᜀ� करने के 耂लए इ頄तेमाल होने वाला 찄ोटोकॉल है:

A. 耂स頄पल मेल 頄ांसफर 찄ोटोकॉल (SMTP) B. पो頄ट ऑ耂फस 찄ोटोकॉल (POP)

C. इंटरनेट मैसेज एȅसेस 찄ोटोकॉल (IMAP) D. 耂सȅयोर सॉकेट लेयर (SSL) 찄ोटोकॉल

Correct Ans: A

Q30. _________ is the electronic equivalent of ordinary signatures that provides authenticity
of the electronic data.

A. Digital signature B. Access control

C. Encipherment D. Plaintext

Correct Ans: A

Q30. _________ साधारण 耂स쀃नेचर का इलेȅ頄ा耂नक समतु頄य है जो इलेȅ頄ा耂नक डाटा कᘂ 찄ामा耂णकता मुहैया कराता है।

A. 耂डिजटल 耂स쀃 नेचर B. एȅ सेस कं頄ोल

C. एⰄ साइफरम�ट D. 调 लेनटेȅ 頄 ट

Correct Ans: A

Q31. Which one of the following is an installer package file format that is used for installation
and uninstallation of programs in Windows operating systems?

A. MSI B. EXE

C. DMG D. IMG

Correct Ans: A

Q31. 耂न頄न耂ल耂खत कौन सा वह इं頄टॉलर पकेैज फाइल फॉम雀�ट है जो 耂वडंोज ऑपरे耂टगं 耂स頄टम म� 찄ो鐅ामᘂ कᘂ इं頄टॉलेशन और
अनइं्頄टॉलेशन के 耂लए इ頄ते माल 耂कया जाता है?

A. MSI B. EXE

C. DMG D. IMG

Correct Ans: A

Q32. Which of the following software installation type requires a user intervention to make
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choices and preferences?

A. Attended installation B. Unattended installation

C. Automatic installation D. Silent installation

Correct Ans: A

Q32. 耂न頄न耂ल耂खत 耂कस 찄कार के सॉȅटवेयर इं頄टॉलेशन म� 耂व耂भⰄन 耂वक頄प ंएव ंपसंद चनुने के 耂लए, यज़ूर के ह頄त埔े�प कᘂ ज㠅रत है?

A. अट�耂डड इं頄टॉलेशन B. अन­अट�耂डड इं頄 टॉलेशन

C. ऑटोमै耂टक इं頄टॉलेशन D. साइल�ट इं頄टॉलेशन

Correct Ans: A

Q33. When you are connected to the Internet, several advertisements keep popping up even
without clicking on them. This is an example of _________ attack.

A. Adware B. Spam

C. Phishing D. Pharming

Correct Ans: A

Q33. जब इंटरनेट से कनेिȅटड होते ह� तब अनेक 耂व栆ापन उन पर िȅलक 耂कए 耂बना अचानक नजर आते रहते ह�। यह _________
अटैक का एक उदाहरण है।

A. एडवेयर B. 頄पॅम

C. 耂फ耂शगं D. फा耂म圀�ग

Correct Ans: A

Q34. Which one of the following is NOT a function of antivirus?

A. Detect and remove malicious code B. Protect all entry points to the computer

C. Regularly updates against new attacks D. Perform compression and decompression of files

Correct Ans: D

Q34. 耂न頄न耂ल耂खत कौन सा 耂वक頄प एंटᘂ­वायरस का कायᜀ� नहᘂं है?

A. द调ुट कोड का पता लगाना और हटाना B. कं调यटूर के सभी एं頄ᘂ पॉइंटस कᘂ र埔�ा करना

C. नए अटैकᘂ के 耂खलाफ 耂नय耂मत 㠅प से अ頄यतन
करना

D. फाइलᘂ का क頄찄ेशन और 耂डक頄찄ेशन करना

Correct Ans: D

Q35. An equivalent representation for the Boolean expression A' + 1 is

A. A B. A'

C. 1 D. 0

Correct Ans: C

Q35. ब耂ुलयन एȅस찄ेशन A' + 1 का एक समतु頄य ्耂न㠅पण है:

A. A B. A'

C. 1 D. 0

Correct Ans: C
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Q36. What is the result of the Boolean expression PQ + PQR + PQRS + PQRST?

A. PQ B. PQ + RS + T

C. P + Q + R + S + T D. PQRST

Correct Ans: A

Q36. ब耂ुलयन एȅस찄ेशन PQ + PQR + PQRS + PQRST का प耂रणाम ȅया है?

A. PQ B. PQ + RS + T

C. P + Q + R + S + T D. PQRST

Correct Ans: A

Q37. Complete the sentence with the correct option.
Firewall on a computer _____________.

A. Reduces over heating of the computer B. Prevents unauthorized access to the computer

C. Allows more devices to share the same
Internet connection

D. Enables to utilize maximum Internet bandwidth

Correct Ans: B

Q37. सहᘂ 耂वक頄प के साथ वाȅय ्को परूा कर�।
एक कं调यटूर पर फायरवाल _____________.

A. कं调यटूर कᘂ ओवर हᘂ耂टगं को कम करती है B. कं调यटूर को अ찄ा耂धकृत 㠅प से एȅसेस 耂कए जाने कᘂ रोकथाम करती है

C. अ耂धक 耂डवाइ耂सस के 耂लए एक हᘂ इंटरनेट
कनेȅशन को शेयर करना संभव बनाती है

D. अ耂धकतम इंटरनेट ब�ड耂व戄थ को इ頄तेमाल करने म� समथᜀ� बनाती है

Correct Ans: B

Q38. For more protection against unauthorized access to a computer, you can use:

A. Only one software firewall B. Two or more software firewalls

C. Only one hardware firewall D. A combination of one software firewall and a hardware
firewall

Correct Ans: D

Q38. एक कं调यटूर को अ찄ा耂धकृत 㠅प से एȅसेस 耂कए जाने के 耂खलाफ अ耂धक सुर埔�ा के 耂लए, आप इ頄तेमाल कर सकते ह�:

A. केवल एक सॉȅटवेयर फायरवाल B. दो या दो से अ耂धक सॉȅटवेयर फायरवा頄स

C. केवल एक हाडᜀ�वेयर फायरवाल D. एक सॉȅटवेयर फायरवाल और एक हाडᜀ�वेयर फायरवाल का कॉ頄बीनेशन

Correct Ans: D

Q39. A help desk in an IT organization:

A. Does employee management B. Answers technical questions of its customers

C. Does finance management D. Administers system software

Correct Ans: B

Q39. एक IT कंपनी म� एक हे頄प डे頄क्:

A. कमᜀ�चारᘂ 찄बधंन करता है B. अपने 鐅ाहकᘂ के तकनीकᘂ सवालᘂ का जवाब देता है

C. 耂व萃त 찄बधंन करता है D. 耂स頄टम सॉȅटवेयर का 찄शासन करता है
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Correct Ans: B

Q40. ____________ helps IT customer support agents to receive and respond to service
requests.

A. Webware B. System software

C. Help desk software D. Anti­malware software

Correct Ans: C

Q40. ____________ स耂वᜀ�स 耂रȅवे頄頄स को 찄ा调त करने और उनका 찄萃य萃ुतर देने म� IT क頄टमर सपोटᜀ� एज�टᘂ कᘂ सहायता करता
है।

A. वेबवेयर B. 耂स頄टम सॉȅटवेयर

C. हे頄प डे頄क सॉȅटवेयर D. एंटᘂ­मालवेयर सॉȅटवेयर

Correct Ans: C

Q41. What file system does Windows NT or Windows Server operating systems use?

A. New Technology File System (NTFS) B. File Allocation Table (FAT)

C. File Allocation Table 32(FAT32) D. Tape file system

Correct Ans: A

Q41. 耂वडंोज NT या 耂वडंोज सवᜀ�र ऑपरे耂टगं 耂स頄टम कौन सा फाइल 耂स頄टम इ頄तेमाल करते ह�?

A. Ⰴय ूटेȅनोलॉजी फाइल 耂स頄टम (NTFS) B. फाइल एलोकेशन टेबल (FAT)

C. फाइल एलोकेशन टेबल 32(FAT32) D. टेप फाइल 耂स頄टम

Correct Ans: A

Q42. What do you mean by starvation in operating system?

A. When a thread is waiting indefinitely
for some resource, but other threads are
using it.

B. When a thread wants permission.

C. When only one thread is allowed to
use the resource.

D. None of the above.

Correct Ans: A

Q42. ऑपरे耂टगं 耂स頄टम म� 頄टाव雀�शन का ȅया अथᜀ� है?

A. जब एक ៨े�ड 耂कसी 耂रसोसᜀ� के 耂लए अ耂निퟰ�चत काल
तक इंतजार कर रहा है, ले耂कन दसूरे ៨े�戄स उसे
इ頄तेमाल कर रहे ह�।

B. जब एक ៨े�ड अनमु耂त चाहता है।

C. जब केवल एक ៨े�ड को 耂रसोसᜀ� इ頄तेमाल करने कᘂ
अनमु耂त है।

D. उपयुᜀ�ȅतक म� से कोई नहᘂं

Correct Ans: A

Q43. Which of the following tool is used to complete online transactions or mobile banking to
combat cyber fraud?

A. One­time Password (OTP) B. Automated Teller Machine (ATM)

C. SMS alerts D. Core Banking Solution (CBS)
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Correct Ans: A

Q43. साइबर धोखेबाजी का मुकाबला करने के 耂लए, ऑनलाइन 頄ांजेȅशन या मोबाइल ब�耂कंग को परूा करने के 耂लए 耂न頄न耂ल耂खत कौन सा
टूल इ頄तेमाल 耂कया जाता है?

A. वन टाइम पासवडᜀ� (OTP) B. ऑटोमै耂टड टैलर मशीन (ATM)

C. SMS अल頄ᜀ�स D. कोर ब�耂कंग स頄यशुन (CBS)

Correct Ans: A

Q44. Choose the correct procedure to add the CONFIDENTIAL watermark to your Word 2010
document.

A. Click Page Layout, in the Page
Background group, select Watermark and
select CONFIDENTIAL from the gallery.

B. Click Page Layout, in the Page Background group, select
CONFIDENTIAL.

C. Click Page Layout, in the Page
Background group, select Page Color and
select CONFIDENTIAL from the gallery.

D. Click Insert, in the Page Background group, select Add
Watermark and select CONFIDENTIAL from the gallery

Correct Ans: A

Q44. अपने वडᜀ� 2010 डॉȅयमु�ट म� CONFIDENTIAL का वाटरमाकᜀ�  डालने के 耂लए सहᘂ प氅耂त को च耂ुनये।

A. Page Background 鐅पु म�, Page Layout पर
िȅलक कᘂिजये, Watermark को सेलेȅट कᘂिजये
और गलैरᘂ से CONFIDENTIAL को सेलेȅट
कᘂिजये।

B. Page Background 鐅पु म�, Page Layout पर िȅलक कᘂिजये,
CONFIDENTIAL को सेलेȅट कᘂिजये।

C. Page Background 鐅पु म�, Page Layout पर
िȅलक कᘂिजये, Page Color को सेलेȅट। कᘂिजये
और गलैरᘂ से CONFIDENTIAL को सेलेȅट
कᘂिजये।

D. Page Background 鐅पु म�, Insert पर िȅलक कᘂिजये, Add
Watermark को सेलेȅटे कᘂिजये और गलैरᘂ से CONFIDENTIAL को सेलेȅट
कᘂिजये।

Correct Ans: A

Q45. You want to create an envelope for a letter. What is the procedure to create envelopes in
Word 2010?

A. Click Mailings ­> Envelopes B. Click Mailings ­> Select Recipients ­> Envelopes

C. Click File ­> Advanced ­> General ­>
Envelopes

D. Click File ­> Envelopes

Correct Ans: A

Q45. आप एक प阄 के 耂लए 耂लफ़ाफ़ा बनाना चाहते ह�। वडᜀ� 2010 म� 耂लफ़ाफ़ा बनाने कᘂ प氅耂त ȅया है?

A. Mailings ­> Envelopes पर िȅलक कᘂिजये B. Mailings पर िȅलक कᘂिजये ­> Recipients सेलेȅट कᘂिजये ­>
Envelopes

C. File ­> Advanced ­> General ­>
Envelopes पर िȅलक कᘂिजए

D. File ­> Envelopes पर िȅलक कᘂिजए

Correct Ans: A

Q46. While saving a Word2010 document, what is the default file extension?

A. .ppt B. .xlsx

C. .txt D. .docx
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Correct Ans: D

Q46. MS Word 2010 डाȅयमु�ट को सेव करते समय, 耂डफा頄ट फाइल एȅसट�शन ȅया है?

A. .ppt B. .xlsx

C. .txt D. .docx

Correct Ans: D

Q47. You need to share the electronic copy of a legal agreement with your business partner.
Before sharing the document with the partner, you need to remove all personal information
such as author's name and cropped out image data. How can you achieve the requirement in
MS Word 2010?

A. By using the Document Inspector
feature

B. By using the Protect Document feature

C. By encrypting the document D. By using the Check Accessibility feature

Correct Ans: A

Q47. आपको अपने कारोबारᘂ पाटᜀ�नर के साथ काननूी करारनामे कᘂ एक एलेȅ頄ॉ耂नक कॉपी शेयर करने कᘂ ज㠅रत है। पाटᜀ�नर के साथ
डॉȅयमु�ट को शेयर करने से पहले, आपको सारᘂ 耂नजी सूचना हटानी है, जसेै लेखक का नाम और 䈆ॉप 耂कया गया इमेज डाटा। MS Word
2010 म� आप अपनी इस ज㠅रत को कैसे परूा कर सकते ह� ?

A. Document Inspector फᘂचर को इ頄तेमाल
करके

B. Protect Document फᘂचर को इ頄तेमाल करके

C. डॉȅयमु�ट का एन䈆यप耂टगं करके D. Check Accessibility फᘂचर को इ頄तेमाल करके

Correct Ans: A

Q48. You want to highlight numbers between 11 and 30 in a range of cells in yellow color.
Which of the following commands in MS Excel 2010 helps you to visually highlight important
values in your worksheets?

A. Conditional Formatting command B. Sort command

C. Filter command D. Format command

Correct Ans: A

Q48. आप से頄स म� एक र�ज म� 11 और 30 के बीच के नबंरᘂ को पीले रंग म� हाइलाइट करना चाहते ह�। MS Excel 2010 म�
耂न頄न耂ल耂खत कौनसी कमांड आपकᘂ वकᜀ� शीट म� मह萃वपणूᜀ� व頄ैयजू को देखने के 耂लए हाइलाइट करने म� आपकᘂ मदद करेगी?

A. Conditional Formatting कमांड B. Sort कमांड

C. Filter कमांड D. Format कमांड

Correct Ans: A

Q49. You have a long text in a cell and you want the text to appear in multiple lines. How can
you achieve this in MS Excel 2010?

A. Select the text, click View ­> Page
Break Preview

B. Select the text, click Page Layout ­> Breaks

C. Select the text, click Home, in the
Alignment group, choose Wrap Text

D. None of the above

Correct Ans: C

Q49. आपके पास एक सेल म� लंबा टेȅ頄ट है और आप चाहते ह� 耂क यह टेȅ頄ट कई लाइनᘂ म� 耂दखाई दे। आप MS Excel 2010 म�
यह कैसे कर सकते ह� ?
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A. टेȅ頄ट को सेलेȅट कᘂिजये, View ­> Page
Break Preview पर िȅलक कᘂिजए

B. टेȅ頄ट को सेलेȅट कᘂिजये, Page Layout ­> Breaks पर िȅलक कᘂिजए

C. टेȅ頄ट को सेलेȅट कᘂिजये, Alignment 鐅पु म�
Home पर िȅलक कᘂिजए, Wrap Text को सेलेȅट
कᘂिजए

D. उपयुᜀ�ȅत म� से कोई नहᘂं

Correct Ans: C

Q50. How will you paint the inside of a row in an MS Excel worksheet with a specified color?

A. By using the Fill Color command B. By using the Borders command

C. By using the Font Color command D. By using the Alignment commands

Correct Ans: A

Q50. आप MS Excel वकᜀ� शीट म� एक कतार के अदंर एक खास रंग कैसे भर�गे?

A. Fill Color कमांड इ頄तेमाल करके B. Borders कमांड इ頄तेमाल करके

C. Font Color कमांड इ頄तेमाल करके D. Alignment कमांड इ頄तेमाल करके

Correct Ans: A

Q51. You want to change the font face/theme of the text in an Excel 2010 worksheet cell.
Which of the following command would you use?

A. Font command on the Home tab B. Font size command on the Home tab

C. Font color command on the Home tab D. Alignment commands

Correct Ans: A

Q51. आप Excel 2010 वकᜀ� शीट कᘂ एक सेल म� टेȅ頄ट कᘂ फोⰄट फेस/थीम को बदलना चाहते ह�। आप 耂न頄न耂ल耂खत कौनसी कमांड
इ頄तेमाल कर�गे?

A. Home टैब पर Font कमांड B. Home टैब पर Font size कमांड

C. Home टैब पर Font color कमांड D. Alignment कमांड

Correct Ans: A

Q52. Which of the following views help you to view your presentation with speaker notes on
your laptop while your audience views the presentation without the notes on a projector?

A. Presenter View B. Slider Sorter View

C. Reading View D. Outline View

Correct Ans: A

Q52. 耂न頄न耂ल耂खत कौन सा 调य ूआपके लैपटॉप पर 頄पीकर नो頄स के साथ अपनी 찄ेज�टेशन को देखने म� आपकᘂ मदद करता है, जब耂क
उसी दौरान आपके दशᜀ�कगण एक 찄ोजेȅ頄 पर उसी 찄ेज�टेशन को नो頄स के 耂बना देखते ह�?

A. Presenter 调यू B. Slider Sorter 调यू

C. Reading 调यू D. Outline 调यू

Correct Ans: A

Q53. In PowerPoint presentations, F7 key is used to/for:

A. Grammar check B. Start slide show view
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C. Spelling check D. None of the above

Correct Ans: C

Q53. पावर调वाइंट 찄ेज�टेशन म�, F7 बटन 耂कस耂लए इ頄तेमाल 耂कया जाता है:

A. 鐅ामर कᘂ जांच B. 頄लाइड शो 调य ूशु頄 करना

C. 頄पे耂लगं कᘂ जांच D. उपयुᜀ�ȅत म� से कोई नहᘂं

Correct Ans: C

Q54. One of the largest fulfillment centers operated by Amazon in India is located in which
city?

A. Chandigarh B. Sonipat

C. Gurugram D. Bengaluru

Correct Ans: B

Q54. भारत म� अमेज़न 頄वारा संचा耂लत एक सबसे बड़ी फुल耂फलम�ट क� 頄 耂कस शहर म� ि頄थत है?

A. चडंीगढ़ B. सोनीपत

C. 鐅頄ु鐅ाम D. ब�गलू頄

Correct Ans: B

Q55. The National Institute of Solar Energy is located in which city?

A. Jaipur B. Coimbatore

C. Gurugram D. Dehradun

Correct Ans: C

Q55. रा调頄ᘂय सौर ऊजाᜀ� सं頄थान 耂कस शहर म� ि頄थत है?

A. जयपरु B. कोयमबतूर

C. ग頄ु鐅ाम D. देहरादनू

Correct Ans: C

Q56. Which Indian wrestler won a bronze medal in the 2016 Rio Olympic women's freestyle
wrestling?

A. Kavita Chahal B. Sakshi Malik

C. Babita Kumari D. Vinesh Phogat

Correct Ans: B

Q56. 耂कस भारतीय कुퟰ�तीबाज ने 2016 耂रयो ओलि頄पक म耂हला 䈆ᘂ頄टाइल कुퟰ�ती म� कां頄य ंपदक जीता था?

A. क耂वता चहल B. सा埔�ी म耂लक

C. ब耂बता कुमारᘂ D. 耂वनेश फोगाट

Correct Ans: B

Q57. Who is the present Governor of Haryana?

A. Shri. Kaptan Singh Solanki B. Shri. Jagannath Pahadia
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C. Shri. Om Prakash Verma D. Manohar Lal Khattar

Correct Ans: A

Q57. ह耂रयाणा राȅय के वतᜀ�मान राȅयपाल कौन है?

A. ꈅी क调तान 耂सहं सोलंकᘂ B. ꈅी जगⰄनाथ पहा耂ड़ या

C. ꈅी ओम 찄काश वमाᜀ� D. मनोहर लाल ख頄र

Correct Ans: A

Q58. How many other State boundaries does the State of Haryana border with?

A. 6 B. 7

C. 5 D. 4

Correct Ans: C

Q58. ह耂रयाणा राȅय कᘂ सीमाएं 耂कतने अⰄय राȅयᘂ कᘂ सीमाओं से 耂मलती ह�?

A. 6 B. 7

C. 5 D. 4

Correct Ans: C

Q59. What is the full form of STPI?

A. Southern Technology Park of India B. State's Technology Park of India

C. Software Technology Parks of India D. Software Technology Plants of India

Correct Ans: C

Q59. STPI का परूा 㠅प ȅया है?

A. Southern Technology Park of India B. State's Technology Park of India

C. Software Technology Parks of India D. Software Technology Plants of India

Correct Ans: C

Q60. What is the expansion of CII ­ a premier industry association in India?

A. Conglomeration of Indian Industries B. Conference of Indian Industries

C. Confederation of Indian Industry D. Classification of Indian Industry

Correct Ans: C

Q60. भारत के 찄ी耂मयर औ頄यो耂गक एसो耂सएशन CII का परूा नाम ȅया है?

A. Conglomeration of Indian Industries B. Conference of Indian Industries

C. Confederation of Indian Industry D. Classification of Indian Industry

Correct Ans: C

Q61. Where is the Headquarters of the National Power Training Institute (NPTI)?

A. New Delhi B. Faridabad

C. Chandigarh D. Gurgaon (Gurugram)

Correct Ans: B

Q61. रा调頄ᘂय 耂व頄यतु 찄耂श埔�ण सं頄थान (NPTI) का मु氅यालय कहां है?
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A. नई 耂द頄लᘂ B. फरᘂदाबाद

C. चडंीगढ़ D. गड़ुगांव (ग頄ु鐅ाम)

Correct Ans: B

Q62. What does LAN stand for in networking?

A. Local Area Network B. Last Area Network

C. Long Area Network D. Line area Network

Correct Ans: A

Q62. नेटव耂क圀� ग म� LAN का ȅया मतलब है?

A. Local Area Network B. Last Area Network

C. Long Area Network D. Line area Network

Correct Ans: A

Q63. Haryana State is located in which part of India?

A. South­West B. North­West

C. North­East D. South­East

Correct Ans: B

Q63. ह耂रयाणा राȅय भारत के 耂कस 耂ह頄से म� ि頄थत है?

A. द耂埔�ण­पिퟰ�चम B. उ萃तर­पिퟰ�चम

C. उ萃तर­पवूᜀ� D. द耂埔�ण­पवूᜀ�

Correct Ans: B

Q64. Who is the first Indian woman from Haryana to climb Mt. Everest from both China and
Nepal side, in 2017 and 2013 respectively?

A. Anita Kundu B. Bachendri Pal

C. Prelata Agarwal D. Malwath Purna

Correct Ans: A

Q64. ह耂रयाणा से वह पहलᘂ भारतीय म耂हला कौन है िजसने 2017 और 2013 म� 䈆मश: चीन और नेपाल कᘂ ओर से एवरे頄ट पवᜀ�त
कᘂ चढ़ाई कᘂ है?

A. अ耂नता कंुडू B. बचेⰄ頄ᘂ पाल

C. 찄ेलता अ鐅वाल D. मलवथ पणूाᜀ�

Correct Ans: A

Q65. In which Haryana district is the Bhagat Phool Singh Mahila Vishwavidyalaya located?

A. Ambala B. Sonipat

C. Sirsa D. Rohtak

Correct Ans: B

Q65. ह耂रयाणा के 耂कस िजले म� भगत फूल 耂सहं म耂हला 耂वퟰ�व耂व頄यालय ि頄थत है?
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A. अबंाला B. सोनीपत

C. 耂सरसा D. रोहतक

Correct Ans: B

Q66. Which District is considered to be the smallest in Haryana state, area­wise?

A. Panchkula B. Fatehabad

C. Jhajjar D. Kurukshetra

Correct Ans: A

Q66. ह耂रयाणा राȅय म� 耂कस िजले को 埔े�阄फल के 耂हसाब से सबसे छोटा माना जाता है?

A. पचंकुला B. फतेहाबाद

C. झȅजर D. कु頄埔े�阄

Correct Ans: A

Q67. The battle between Babur's army and ___________ was known as the first Battle of
Panipat.

A. Akbar's Empire B. Lodi Empire

C. Mohd. Ghazni's Empire D. Aurangzeb's Empire

Correct Ans: B

Q67. बाबर कᘂ सेना और ___________ के बीच लड़ाई पानीपत का पहला य氅ु कहलाता है।

A. अकबर सा�ाȅय B. लोदᘂ सा�ाȅय

C. मोह頄मद गजनी सा�ाȅ य D. औरंगजेब सा�ाȅय

Correct Ans: B

Q68. The tomb of Ibrahim Lodi is located in which city?

A. Panchkula B. Faridabad

C. Panipat D. Rewari

Correct Ans: C

Q68. इ찄ा耂हम लोदᘂ कᘂ मकबरा कौन से शहर म� ि頄थत है?

A. पचंकुला B. फरᘂदाबाद

C. पानीपत D. रेवाड़ी

Correct Ans: C

Q69. Which place is known as the birth­place of Sant Surdas?

A. Yamunanagar B. Samalkha in Panipat

C. Sihi in Faridabad D. Ambala

Correct Ans: C

Q69. कौनसी जगह संत सूरदास के जⰄम頄थान के 㠅प म� जानी जाती है?

A. यमुनानगर B. पानीपत म� समालखां
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C. फरᘂदाबाद म� 耂सहᘂ D. अबंाला

Correct Ans: C

Q70. The tractor unit of which Company in Haryana was closed down by the Government?

A. HMT B. Bajaj Auto

C. Mahindra and Mahindra D. Eicher Motors

Correct Ans: A

Q70. ह耂रयाणा म� 耂कस कंपनी के 頄ैȅटर कारखाने को सरकार 頄वारा बदं कर 耂दया गया था?

A. HMT B. बजाज ऑटो

C. म耂हⰄ頄ा एंड म耂हⰄ頄ा D. आइशर मोटसᜀ�

Correct Ans: A

Q71. The Haryana Govt. is planning to upgrade Shri Krishna Government Ayurvedic College to
the status of an Ayush University. Where is it presently located?

A. Kurukshetra B. Gurugram

C. Panchkula D. Sonipat

Correct Ans: A

Q71. ह耂रयाणा सरकार ꈅी कृ调ण सरकारᘂ आयवु雀�耂दक कालेज का उⰄनयन करके उसे एक आयषु 耂वퟰ�व耂व頄यालय का 頄तबा 찄दान करने कᘂ
योजना बना रहᘂ है।
वतᜀ�मान म� यह कॉलेज कहां ि頄थत है?

A. कु頄埔े�阄 B. ग頄ु鐅ाम

C. पचंकुला D. सोनीपत

Correct Ans: A

Q72. The Late Dr. Kalpana Chawla, an Indian­American scientist and NASA astronaut, was
born in which city of Haryana?

A. Yamunanagar B. Palwal

C. Karnal D. Chandigarh

Correct Ans: C

Q72. 頄वग坅�य डॉ. क頄पना चावला, भारतीय­अमरᘂकᘂ व栆ैा耂नक और NASA के अतं耂र埔�­या阄ी का जⰄम ह耂रयाणा के 耂कस शहर म� हुआ
था?

A. यमुनानगर B. पलवल

C. करनाल D. चड़ंीगढ़

Correct Ans: C

Q73. 4 of the 5 boxers who represented India at the 2008 Summer Olympics were from this
District in Haryana. Name the District.

A. Hisar B. Bhiwani

C. Panchkula D. Panipat

Correct Ans: B
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Q73. 2008 के 鐅ी调मकालᘂन ओलि頄पक म� भारत को 찄耂त耂न耂ध萃व करने वाले 5 म� से 4 मुȅकेबाज ह耂रयाणा के िज़ले से थे। उस िज़ले
का नाम बताइये।

A. 耂हसार B. 耂भवानी

C. पचंकुला D. पानीपत

Correct Ans: B

Q74. The Delhi to Gurugram Expressway is part of which National Highway?

A. NH­8 B. NH­47

C. NH­70 D. NH­80

Correct Ans: A

Q74. 耂द頄लᘂ से ग頄ु鐅ाम एȅस찄ेस­वे 耂कस रा调頄ᘂय महामागᜀ� का 耂ह頄सा है?

A. NH­8 B. NH­47

C. NH­70 D. NH­80

Correct Ans: A

Q75. Who is/are said to have built the Jayanti Devi temple in Jind?

A. Ashoka B. Samudragupta

C. Kanishka D. Pandavas

Correct Ans: D

Q75. 耂कवदं耂तयᘂ के अनसुार, जींद म� जयतंी देवी मं耂दर का 耂नमाᜀ�ण 耂कसने 耂कया/करवाया था?

A. अशोक B. समु頄ग调ुत

C. क耂न调क D. पांडवᘂ

Correct Ans: D

Q76. Which Muslim ruler founded the city of Hisar in 1354 AD?

A. Firozshah Tughlaq B. Ibrahim Lodi

C. Jahangir D. Babur

Correct Ans: A

Q76. सन 1354 म� 耂कस मुसलमान शासक ने 耂हसार शहर कᘂ 頄थापना कᘂ थी?

A. 耂फरोजशाह तुगलक B. इ찄ा耂हम लोदᘂ

C. जहांगीर D. बाबर

Correct Ans: A

Q77. Gurgaon (Gurugram) is the headquarters of one of India’s leading Online travel portal
companies. Name the Company.

A. Travel Guru B. Trip Advisor

C. MakeMyTrip D. Cleartrip

Correct Ans: C

Q77. गड़ुगांव (ग頄ु鐅ाम) म� भारत कᘂ एक 찄मुख ऑनलाइन 頄ेवल पोटᜀ�ल कंप耂नयᘂ म� से एक का मु氅या लय ि頄थत है। उस कंपनी का नाम
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बताय�।

A. 頄ेवल ग頄ु B. 耂頄प एडवाइजर

C. मेकमाई耂頄प D. ȅलᘂयर耂頄प

Correct Ans: C

Q78. The film 'Dangal' featured Aamir Khan, who played the role of __________?

A. Jai Singh Phogat B. Virendra Singh

C. Mahavir Singh Phogat D. Pramod Kadam

Correct Ans: C

Q78. 'दंगल' 耂फ頄म म� अमीर खान ने __________ का 耂करदार 耂नभाया था?

A. जय 耂सहं फोगाट B. वीरेⰄ頄 耂सहं

C. महावीर 耂सहं फोगाट D. 찄मोद कदम

Correct Ans: C

Q79. What is the full­form of IBM – the multi­national technology Company?

A. Indian Business Management B. International Business Machines

C. International Business Magnates D. Indian Business Marketing

Correct Ans: B

Q79. बहुरा调頄ᘂय 찄ौ頄यो耂गकᘂ कंपनी ­ IBM का परूा नाम ȅया है?

A. Indian Business Management B. International Business Machines

C. International Business Magnates D. Indian Business Marketing

Correct Ans: B

Q80. What is the full­form of HTTP?

A. HyperTest Transport Protocol B. HyperTent Transfer Protocol

C. HyperText Transfer Protocol D. HyperText Transmission Protocol

Correct Ans: C

Q80. HTTP का पणूᜀ� 㠅प ȅया है?

A. HyperTest Transport Protocol B. HyperTent Transfer Protocol

C. HyperText Transfer Protocol D. HyperText Transmission Protocol

Correct Ans: C

Q81. The Unique Identification Authority of India (UIDAI) that manages Aadhaar Card, has its
data center in which city in Haryana?

A. Gurgaoan (Gurugram) B. Faridabad

C. New Delhi D. Manesar

Correct Ans: D

Q81. आधार काडᜀ� का 찄बधंन करने वाले यनूीक आइड�टᘂ耂फकेशन ऑथो耂रटᘂ ऑफ इं耂डया (UIDAI) का डाटा सेⰄटर ह耂रयाणा के 耂कस
शहर म� ि頄थत है?
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A. गड़ुगांव (ग頄ु鐅ाम) B. फरᘂदाबाद

C. नई 耂द頄लᘂ D. मानेसर

Correct Ans: D

Q82. The Government of Haryana officially notified on 16th November 2016 as its 22nd
District?

A. Rohtak B. panchkula

C. Charkhi Dadri D. Gurugram

Correct Ans: C

Q82. 16 नवबंर 2016 को ह耂रयाणा सरकार ने आ耂धका耂रक तौर पर 耂कस िज़ ले को अपना 22 व� िजला अ耂धसू耂चत 耂कया था?

A. रोहतक B. पचंकुला

C. चरखी दादरᘂ D. ग頄ु鐅ाम

Correct Ans: C

Q83. Name the award given for excellence in Urdu Literature in Haryana?

A. The Munshi Gumani Lal Award B. Sabir Dutt Award

C. Kanwar Mohinder Singh Bedi Award D. Virender Sehwag Award

Correct Ans: A

Q83. ह耂रयाणा म� उदूᜀ� सा耂ह萃य म� उ萃कृ调टता हेतु 耂दए जाने वाले परु頄कार का नाम बताएं।

A. मुंशी गमुानी लाल परु頄कार B. सबीर द萃त परु頄कार

C. कंवर मो耂हⰄ頄 耂सहं बेदᘂ परु頄कार D. वीरेⰄ頄 सहवाग परु頄कार

Correct Ans: A

Q84. Where would you find Badkhal Lake in Haryana?

A. Near Manesar B. Near Faridabad

C. Near Rohtak D. Near Surajkund

Correct Ans: B

Q84. ह耂रयाणा म� बड़कल झील कहां है?

A. मानेसर के पास B. फरᘂदाबाद के पास

C. रोहतक के पास D. सूरजकंुड के पास

Correct Ans: B

Q85. What is Chandimandir Cantonment in Panchkula City famous for?

A. Headquarters of Indian Army’s
Northern Command

B. Headquarters of Indian Army’s Western Command

C. Headquarters of Indian Airforce’s
Western Command

D. Headquarters of Indian Airforce’s Northern Command

Correct Ans: B

Q85. पचंकुला शहर म� चडंी मं耂दर छावनी का नाम 耂कस耂लए 찄耂स氅 है?
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A. भारतीय थल सेना कᘂ नदनᜀ� कमांड का मु氅यालय B. भारतीय थल सेना कᘂ वे頄टनᜀ� कमांड का मु氅यालय

C. भारतीय वाय ुसेना कᘂ वे頄टनᜀ� कमांड का मु氅यालय D. भारतीय वाय ुसेना कᘂ नदनᜀ� कमांड का मु氅यालय

Correct Ans: B

Q86. Morni Hills is located in which District in Haryana?

A. Panchkula B. Sirsa

C. Ambala D. Karnal

Correct Ans: A

Q86. ह耂रयाणा के 耂कस िजले म� मोरनी पहा耂ड़यां ि頄थत ह�?

A. पचंकुला B. 耂सरसा

C. अबंाला D. करनाल

Correct Ans: A

Q87. How many Districts were there, when Haryana State was first formed?

A. 5 B. 6

C. 7 D. 8

Correct Ans: C

Q87. जब ह耂रयाणा राȅय का पहलᘂ बार गठन हुआ था तब उसम� 耂कतने िज़ ले थे?

A. 5 B. 6

C. 7 D. 8

Correct Ans: C

Q88. Who is the newly elected Chief Minister of Uttarakhand?

A. Harish Rawat B. Ritu Khanduri Bhushan

C. Saurabh Bahuguna D. Trivendra Singh Rawat

Correct Ans: D

Q88. उ萃तराखडं का नव耂नवाᜀ�耂चत मु氅य मं耂阄 कौन है?

A. हरᘂश रावत B. रᘂतू खडूंरᘂ भूषण

C. सौरभ बहुगणुा D. 耂阄वेⰄ頄 耂सहं रावत

Correct Ans: D

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word. 

The villagers considered their headman as the arbiter of truth and justice.

A. judge B. owner

C. initiator D. legislator

Correct Ans: A

Q90. Instructions: Read the sentence and identify the correct word that best suits the
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underlined word. 

The old man was elated when he received the tickets to London.

A. excited B. gloomy

C. content D. depressed

Correct Ans: A

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

He usually _________ late to office.

A. left B. will leave

C. has left D. leaves

Correct Ans: D

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Mona is _______ than her sisters.

A. smartest B. more smarter

C. most smarter D. smarter

Correct Ans: D

Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Divya got cold feet the day before her wedding.

A. surprised B. Happy

C. excited D. scared

Correct Ans: D

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Vanitha spilled the cake mix from the bowl and therefore had to start from scratch.

A. Clean the area B. Start from beginning

C. Scratch the bowl D. Clean the bowl

Correct Ans: B

Q95. 耂नद雀�श – सवाᜀ�耂धक उपयȅुत श调द/श调दᘂ का 찄योग करते हुए वाȅय परूा कर�­

रहᘂम के एक­एक दोहे को कⰄहैया बाब ूने छा阄­जीवन म� हᘂ साथᜀ�कता कᘂ ________ सीमा तक पहँुचा 耂दया है।

A. भयकंर B. चरम

C. अ耂त D. घोर

Correct Ans: B
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Q96. 耂नद雀�श –सवाᜀ�耂धक उपयȅुत श调द/श调दᘂ का 찄योग करते हुए वाȅय परूा कर�­

लȅजावश 頄दय के भाव 찄कट न कर सकᘂ और 찄कट करना अस頄भव भी है, आप स頄दय ह�, समझने म� देर न होगी 耂क म�
耂कस_______म� हँू।

A. खशुी B. पीड़ा

C. हालत D. घर

Correct Ans: C

Q97. 耂नद雀�श­ रेखां耂कत मुहावरे का अथᜀ� पहचान� 

च頄ंहास ने अचानक घर 耂गरवी रखने का फैसला ȅयᘂ 耂कया यह बात मेरᘂ समझ म� 耂ब頄कुल नहᘂं आ रहᘂ, न जाने कौन सा आसमान टूट
पड़ा­

A. भूकंप आना B. कारोबार म� बहुत नकुसान होना

C. अचानक मुसीबत आ जाना D. घरेलू कलह होना

Correct Ans: C

Q98. 耂नद雀�श­ रेखां耂कत मुहावरे का अथᜀ� पहचान� 

मालती मौसी ने दो पी耂ढ़यᘂ से घर के एक­एक सद頄य को अनशुासन म� रखा, ले耂कन उनके गजुर जाने के बाद परूा प耂रवार तीन तेरह हो गया
।

A. बबाᜀ�द होना B. समय का पाबदं

C. 頄वाधीन होना D. 耂बखर जाना

Correct Ans: D

Q99. 耂नद雀�श ­ 4 耂वक頄पᘂ म� से 耂दए गए श调द का पयाᜀ�यवाची श调द बताएँ –

दै萃य

A. असुर B. दᘂन

C. परंुदर D. पशु

Correct Ans: A

Q100. 耂नद雀�श ­ 4 耂वक頄पᘂ म� से 耂दए गए श调द का पयाᜀ�यवाची श调द बताएँ –

भागीरथी

A. सौभा쀃य B. दभुाᜀ�쀃य

C. यमुना D. गंगा

Correct Ans: D
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